MEMORIAL CITY REDEVELOPMENT AUTHORITY, TIRZ NO. 17, City of Houston



Agenda and Agenda Materials Meeting of the Board of Directors

March 26, 2019

JOINT MEETING OF THE BOARD OF DIRECTORS OF THE TIRZ 17 REDEVELOPMENT AUTHORITY/MEMORIAL CITY REDEVELOPMENT AUTHORITY and TAX REINVESTMENT ZONE NUMBER SEVENTEEN HOUSTON, TEXAS

Notice is hereby given that the Board of Directors of the TIRZ 17 Redevelopment Authority (aka the Memorial City Redevelopment Authority) and the Tax Reinvestment Zone Number Seventeen, City of Houston, Texas, will hold a joint meeting on **Tuesday, March 26, 2019**, at 8:00 a.m., at Four Points by Sheraton, Wycliffe Room, 10655 Katy Freeway, Houston, Texas 77024, open to the public, to discuss and adopt such orders, resolutions or motions, and take direct or indirect actions as may be necessary, convenient, or desirable with respect to the following matters:

AGENDA

- 1. Establish quorum and call meeting to order.
- 2. Receive public comments. (A statement of no more than 3 minutes may be made on items of general relevance. There will be no yielding of time to another person. State law prohibits the Board Chair or members of the Board from deliberating a topic without an appropriate agenda item being posted in accordance with the Texas Open Meetings Law; therefore, questions or comments will not be addressed. Engaging in verbal attacks or comments intended to insult, abuse, malign or slander any individual shall be cause for termination of time privileges).
- 3. Presentation from Council Member Stardig.
- 4. Approve Minutes of the February 26, 2019, meeting.
- 5. Receive financial and bookkeeper's report, including payment of invoices, review of investments, and project cash flow reports.
- 6. Conduct annual review of Investment Policy and Adopt Resolution regarding Annual Review of Investment Policy.
- 7. Adopt Resolution Establishing the Authorized Depository Institutions and Adopting List of Qualified Broker/Dealers with Whom the District may Engage in Investment Transactions.
- 8. Accept Annual Disclosure Statements from Investment Officer and Bookkeeper.
- 9. Order Adopting Amended and Restated Procedures for Continuing Disclosure Compliance.
- 10. CIP Committee:
 - a. Project update from Gauge Engineering, LLC.
 - i. Consider Pay Application No. 3 from Reytec Construction, Briar Branch Channel and Straws Improvements in the amount of \$529,283.44.
 - b. Project update from LAN.
 - c. Project update from The Goodman Corporation.
 - d. Project update from SWA.
 - i. Consider Work Order No. 16 (Amended) for professional design services additional construction phase services in the amount of \$24,320.
- 11. Convene in Executive Session pursuant to Section 551.071, Texas Government Code, to conduct a private consultation with attorney, with regard to pending or contemplated litigation; and Convene in Executive Session pursuant to Section 551.072, Texas Government Code, to deliberate the purchase, exchange, lease or value of real property.
- 12. Reconvene in Open Session and authorize appropriate actions regarding to private consultation with attorney with regard to pending or contemplated litigation; and reconvene in Open Session and authorize appropriate actions with regard the purchase, exchange, lease or value of real property.
- 13. Adjournment.

Executive Director for Authority

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

	AGENDA MEMORANDUM	
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors	
FROM:	Executive Director	
SUBJECT:	Agenda Item Materials	

3. Receive a presentation from Council Member Brenda Stardig.

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

	AGENDA MEMORANDUM	
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors	
FROM:	Executive Director	
SUBJECT:	Agenda Item Materials	

4. Approve minutes of the February 26, 2019 regular meeting.

MINUTES OF THE JOINT MEETING OF THE TIRZ 17 REDEVELOPMENT AUTHORITY/MEMORIAL CITY REDEVELOPMENT AUTHORITY and TAX REINVESTMENT ZONE NUMBER SEVENTEEN, CITY OF HOUSTON, TEXAS BOARD OF DIRECTORS

February 26, 2019

ESTABLISH QUORUM AND CALL MEETING TO ORDER.

The Board of Directors of the TIRZ 17 Redevelopment Authority/Memorial City Redevelopment Authority and Tax Reinvestment Zone Number Seventeen, City of Houston, Texas, held a regular joint meeting on Tuesday, February 26, 2019, at 9:00 a.m., at the Spring Branch Management District Conference Room, 9610 Long Point Road, Suite 130, , Houston, Texas 77055, open to the public, and the roll was called of the duly appointed members of the Board, to-wit:

Position 1 – Marshall B. Heins Position 2 – John Rickel Position 3 – David P. Durham Position 4 – Ann T. Givens, *Chair* Position 5 – Zachary R. Hodges Position 6 – Brad Freels, *Vice-Chair* Position 7 – Glenn E. Airola, *Secretary*

and all of the above were present, with the exception of Directors Heins and Rickel, thus constituting a quorum. Also present were Linda Clayton, Hawes Hill & Associates, LLP; Michelle Lofton, ETI Bookkeeping Services; and Muhammad Ali, Gauge Engineering. Others attending the meeting were Ben Gillis, Memorial Management District; John Jackson; Bruce Nichols and Lois Myers. Chair Givens called the meeting to order at 9:00 a.m.

APPROVE MINUTES OF THE FEBRUARY 5, 2019, MEETING.

Upon a motion duly made by Director Freels, and being seconded by Director Durham, the Board voted unanimously to approve the Minutes of the February 5, 2019, Board meeting, as presented.

CONSIDER PAY APPLICATION NO. 2 FROM REYTEC CONSTRUCTION, BRIAR BRANCH CHANNEL & STRAWS IMPROVEMENTS.

Mr. Ali reviewed Pay Application No. 2, Briar Branch Channel & Straws Improvements, from Reytec Construction in the amount of \$152,917.70, included in the Board materials. He reported Gauge Engineering has reviewed the pay application and concurs with the amounts and quantities and is recommending for approval. Upon a motion duly made by Director Freels, and being seconded by Director Durham, the Board voted unanimously to approve Pay Application No. 2 from Reytec Construction, Briar Branch Channel & Straws Improvements in the amount of \$152,917.70.

RECEIVE FINANCIAL AND BOOKKEEPER'S REPORT, INCLUDING PAYMENT OF INVOICES, REVIEW OF INVESTMENTS AND PROJECT CASH FLOW REPORTS.

Ms. Lofton presented the Bookkeeper's Report and went over invoices, included in the Board materials. Upon a motion duly made by Director Airola, and being seconded by Director Freels, the

Board voted unanimously to accept the Bookkeeper's Report and approved payment of invoices, as presented.

RECEIVE PUBLIC COMMENTS.

Public Comments were received from Lois Myers.

ADJOURN.

There being no further business to come before the Board, Chair Givens adjourned the meeting at 9:12 a.m.

Secretary

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

	Agenda Memorandum
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors
FROM:	Executive Director
SUBJECT:	Agenda Item Materials
5.	Receive the financial and bookkeeper's report, including payment of invoices, review of

Receive the financial and bookkeeper's report, including payment of invoices, review of investments, and project cash flow reports.

Memorial City Redevelopment Authority Cash Management Report

February 28, 2019

ETI BOOKKEEPING SERVICES

17111 ROLLING CREEK DRIVE SUITE 108 HOUSTON TX 77090 TELEPHONE 281 444 3384 FAX 281 440 8304

Fiscal Year End: June 30, 2019

Summary

Current Activity	Memorial City Redevelopment Authority			
	General Fund	Capital Projects	Debt Service	Total
Beginning Balance	21,512,902.16	0.00	475,716.67	21,988,618.83
Revenue	30,537.35	0.00	845.27	31,382.62
Expenditures	458,124.69	0.00	456,064.50	914,189.19
Ending Balance	21,085,314.82	0.00	20,497.44	21,105,812.26

NOTES:

Debt Service Payments due in Fiscal Year End 2019:

Date	Series	Principal	Interest	Total
9/1/2018	2008	510,000.00		533,251.25
9/1/2018	2011	625,000.00		744,416.00
9/1/2018	2011A	1,965,000.00		2,125,545.00
9/1/2018	2016	120,000.00		334,972.00
3/1/2019	2008		11,903.75	11,903.75
3/1/2019	2011		107,916.00	107,916.00
3/1/2019	2011A		122,718.75	122,718.75
3/1/2019	2016		213,526.00	213,526.00
	······		Total FYE 2019	4,194,248.75

General Operating Fund

BEGINNING BALANCE:			21,512,902.16
REVENUE: Checking Interest - Wells Fargo Texpool Interest Wells Fargo/TexSTAR (Surplus Fun Texas Exchange CD Interest	ids) interest	783.53 1,621.19 27,576.67 555.96	
Voided Check(s) Total Revenue:		0.00	30,537.35
DISBURSEMENTS:			
Checks Presented At Last Meeting Checks Written at/after Last Meeting	I	330,414.91 127,709.78	
Num Name	Amount	121,103.10	
2929 Lockwood, Andrews & Newman, Inc.	-75,523.99		
2930 SWA Group	-52,185.79		
Totai	-127,709.78		
Total Expenditures			458,124.69

Ending Balance:

21,085,314.82

Location of Assets:

Institution	Investment Number	Interest Rate	
Wells Fargo Checking	*5490	0.1800	4,946,583.59
TexPool	*0001	2.3950	883,209.22
Wells Fargo/TexSTAR	TexSTAR Surplus Funds	2.4001	15,005,522.01
Texas Exchange Bank CD	*3601	2.6184	250,000.00
		Total	21,085,314.82
Certificate of Deposit	CD *3601	Term: 12 Months	Matures: 09/28/2019

Memorial City Redevelopment Authority Checks Presented March 26, 2019

Num	Name	Description	Amount
2931	Equi-Tax, Inc	Tax Assessor Fee	-400.00
2932	ETI Bookkeeping Services	Bookkeeping Fee	-900.00
2933	Gauge Engineering, LLC	Engineering Fee	-128,530.00
2934	Hawes Hill & Associates	Professional Consultant	-8,500.00
2935	Lockwood, Andrews & Newman, Inc.	Engineering Fee	-152,121.95
2936	Reytec Construction Resources, Inc.	Pay Application No. 3	-529,283.44
2937	Sai Esparza, Inc.	Landscaping	-655.40
2938	SWA Group	Engineering Consultant	-39,354.68
2939	The Goodman Corporation Inc	Contract Services	-11,006.60
Total			-870,752.07

Debt Service Fund

BEGINNING BALANCE		475,716.67
REVENUE TexPool DSF Interest Wells Fargo/TexSTAR (2008 DSF) Interest Wells Fargo/TexSTAR (2008 Pled Rev) Interest	14.85 825.66 4.76	
Total Revenue		845.27
EXPENDITURES		
2008 Debt Service Interest Payment 2011 Debt Service Interest Payment 2011A Debt Service Interest Payment 2016 Debt Service Interest Payment	11,903.75 107,916.00 122,718.75 213,526.00	
Total Expenditures	• · · · -	456,064.50
ENDING BALANCE		20,497.44

Location of Assets:

Institution	Investment Number	Interest Rate	Current Balance
Wells Fargo *4601	TexSTAR 2008 DSF	2.4001	9,824,40
Wells Fargo *4600	TexSTAR 2008 Pledged Rev	2.4001	2,590.33
TexPool	*0004	2.3950	8,082.71
		Total	20,497.44

.

Memorial City Redevelopment Authority Investment Report February 28, 2019

SCHEDULE OF INVESTMENTS

nvestment Pools

Eund D		ntoroct								
1	Of Assets	Rate	Market	beginning balanc	Book	Interest	Deposits or		Ending Balance	9 -
GOF TexPool	lood	2.3950	881 543 OF	0 00005	001 000		- ANICINI AWARS	Market	NAV	Book
DCE TANDAD			00.010100	0.99990	001,000.03	1,621.19	(00.0)	883,165.06	0.999955	883 209 22
	50	7.3900	8,067.46	0.99995	8.067.86	14 85		10 000 0	10000	
Well	Wells Fargo/					22.	~~~~	0,002.31	GRARA.D	8,082.71
GOF TexStar	Star	2.4001	14,977,525.96	0.999972	14.977 945 34 77 576 67	77 K76 R7		15 005 000 00		
Well	Wells Faroo/					10.00.00	(00.0)	10'000'280.33 0.383385 15,005,522.01	926666.0	15,005,522.01
DSF TexStar DSF	Star DSF	2.4001	465.050.22	0.999977	465 063 24	07F CG				
Welk	Wells Faroo/				13'000'001	00.020	(400,004.0U)	9,824.25	0.999985	9,824.40
SF Texs	DSF TexStar Pi Rev	2.3950	2,585.50	0.999972	2.585.57	4 76				
							(nn·n)	5'080'Z	0.9999985	2,590.33

Certificates of Deposit

Ending	250,000.00
Interest Famed	555.96
Deposits or (Withdrawals)	(555.96)
Beginning Balance	250,000.00
Maturity Date	9/28/2019
lem.	12 Months
Purchase Value	245,000.00
Interest Rate	2.6184
Of Ass	I X EXCh "3601
Fund	-05

Demand Accounts

Ending	4,946,583,59
Deposits or	(457,568.73)
Interest	783.53
Beginning Balance	5,403,368.79
Purchase I Date	6/8/2015
Interest Rate	0.18
Cf Assets	Wells Fargo
	-

Collateral Pledged In Addition to FDIC

Certification:

Investment Act. I hereby certify that pursuant to the Senate Bill 253 and in connection with the preparation of this investment report, I have reviewed the divestment lists prepared and maintained by the Texas Comptroller of Public Accounts, and the District does not own direct or indirect holdings The District's investments are in compliance with the investment strategy as expressed in the District's Investment Policy and the Public Funds

Bookkeeper

Training Completed 10/27/2018 Investment Officer Date Assumed Office 8/6/2015 Investment Officer Kenneth Byrd

Memorial City Redevelopment Authority Profit & Loss Budget vs. Actual February 2018

			February	····	Year	To Date (8 M	onths)	Annual
		Actual	Budget	Variance	Actual	Budget	Variance	Budget
	ary income/Expense							
In	Соте							
	1000 - Income							
	8223 - Interest Income	31,383	3,081	28,302	262,331	26,733	235,598	36,90
	8930 - Bond Proceeds	0	0	D	0	0	0	73,300,0
	Total 1000 · Income	31,383	3,081	28,302	262,331	26,733	235,598	
	6-4320 · Increment Collections	0	0	0	15,907,739	16,599,074	-691,335	
	6-4350 · Grants	0	0	0	0	0	0	3,400,0
	6-4400 - Developer Share	0	0	0	75,800	0	75,800	
То	tal income	31,383	3,081	28,302	16,245,870	16,625,807	-379,937	93,336,04
Ex	pense							
	3335 - Management Consulting Services							
	6320 · Legal	0	12,500	47 500		400.400		
	6322 · Eng Consultant/General Prof.Svc			-12,500	14,308	108,468	-94,160	150,00
	6323 · Legal Litigation	11,060	1,667	9,393	63,945	14,462	49,483	20,00
		0	0	0	2,820	0	2,820	
+	6337 · Construction Audit 6343 · Other	0	3,250	-3,250	13,250	3,250	10,000	10,00
		0	0	0	2,884	0	2,884	
	Total 3335 · Management Consulting Services	11,060	17,417	-6,357	97,207	126,180	-28,973	180,00
	5660 · Transfers							
	6420 · COH Administration Fee	0	0	0	795,387	829,954	-34,567	829,95
	6430 · Municipal Services	0	0	0	0	0	0	2,256,61
·	Total 5650 · Transfers	0	0	0	795,387	829,954	-34,567	3,086,57
	5706 - Debt Service							
_	5707 · Principal	0	0	0	3,220,000	3,100,000	120,000	3,100,00
	5708 · Interest	456,065	518,185	-62,120	974,249	1,096,176	-121,927	1,096,17
	5710c · Trustee Fee	0	1,500	-1,500	7,850	9,500	-1,650	9,50
	Total 5706 · Debt Service	456,065	519,685	-63,620	4,202,099	4,205,676	-3,577	4,205,67
_	6300 · Administration & Overhead							
	6321 · Auditor	0	0	0	10,250	20,000	-9,750	20,00
	6333 · Bookkeeping/Accounting	900	900	0	7,577	7,810	-233	10,80
	6340 · Administration Salaries/Benefit	8,500	8,000	500	65,500	69,419	-3,919	96,00
	6344 - Bond Svcs/Trustee/FA	400	267	133	3,200	2,314	886	3,20
	6350 · Office Expense	0	250	-250	0	2,169	-2,169	3,00
T	6353 · Insurance	0	0	0	961	1,290	-329	
1	Total 6300 - Administration & Overhead	9,800	9,417	383	87,488	103,002		1,29
—	7000 · Capital Expenditure						-15,514	134,29
	1709 - Lumpkin I-10 Westview	0	0	0	A 770			
	1717 · Town & Country W. Drain/Mobil	40,000	293,333		4,773	0	4,773	(
+	1722 · Town & Country W. Signalizatn	40,000	293,333	-253,333	2,473,142 131	2,545,376	-72,234	3,520,000

February 2019 FYE 2019 Budget based on FYE 2018 numbers. FYE 2019 Budget not approved by COH as of 02/28/2019.

Memorial City Redevelopment Authority Profit & Loss Budget vs. Actual February 2018

			February		Year	To Date (8 Mo	onths)	Annual
		Actual	Budget	Variance	Actual	Budget	Variance	Budget
	1725 - Parks & Green Space Improv.	3,500	10,417	-6,917	26,530	90,390	-63,860	125,0
	1731A - Detention Basin & W-140 Bridge	655	0	655	7,865	0	7,865	
	1732A · N Gessner Drainage & Mobility	55,725	49,758	5,967	795,019	431,774	363,245	597,1
	1734 - W140 Channel Improvements	574,724	526,250	48,474	1,230,020	4,566,492	-3,336,472	6,315,0
	1735A · Detention Basin A	38,269	83,333	-45,064	132,858	723,118	-590,260	1,000,0
	1738 - T&C Way Partners, LLC	0	0	0	1,771,001	1,649,593	121,408	1,649,5
	1738A · Memorial Dr Drain & Mobility 1	137,018	33,333	103,685	637,810	289,247	348,563	400,0
	1738B · Memorial Dr Drain & Mobility 2	0	4,167	-4,167	0	36,156	-36,156	50,0
	1799 · Concrete Panel Replace Program	0	2,917	-2,917	0	25,309	-25,309	35,0
То	tal 7000 · Capital Expenditure	849,891	1,003,508	-153,617	7,079,149	10,357,455	-3,278,306	13,691,69
Total E	xpense	1,326,816	1,550,027	-223,211	12,261,330	15,622,267	-3,360,937	21,298,23
et income		-1,295,433	-1,546,946	251,513	3,984,540	1,003,540	2,981,000	72,037,81

ACH/Wire Payments can be seel to: ACH/Wire Payments can be seel to: AFCourt 10130078 Routing: 104000016				Current rapment Due \$68.323.99	\$68.571.00		·				P
ACH/Wire First Natio Account: Routing:]	2-000-13		4	Invoiced Invoiced MS6.932.56	HIS INVOICE.	Tei <i>il</i> \$\$13,456,35					
ADDRESS: In to: white: loc. B	Hebruary 21, 2019 Invoice Nei T20-11972-000-13			To Date \$25.456.55	CLIDERNT PAYMENT DUE THIS INVOICE.	Mbr Mbr M36,03.56					
PLEASE NOTE NEW RENIT ADDRESS: Please make obcess payable to: Locknewod, Andreva & Newteen, Inc. DO Bleas, NE 68103-1165 Tr. 713-366-4900 Tr. 713-366-4900 Tr. 713-366-4900 Tr. 713-366-4900 Tr. 713-366-4900	2 e				CLIREENTP	Current S68,523,99					
PLEASE NO Please make Lockwood, PO Box 30 PO Box 30 T: 713-266 T: 713-266]	Complete Cont 45,1%							
ndrews 1c.			1-14-0	Curtract Amount Complete Contract Amount Satract Amount Complete Contract Amount \$1.165.700.00 45.1% \$640.243.45		silifaga to Date		Date: 07.21.2019			
Lockwood, Andrews & Newnam, inc. A LEO A DALY COMPANY	en Authority, TRZ 17 \$150		th february 22, 2019 Service Name	rruped reams Memorial Drive Mobility and Drainage Jimporements - Phase II Destign				munder Wicky Caregoly			
	Scatt Bean Metroofial City Ecotordoment Authouity, TIRZ 17 9410 Long Polin Dr., Sclief #150 Houston, Teast 77096		ftofesienal Services Anouth February 22, 2019 Account No.					minied by			
q b ç se nt to:											R
ACHWire Payments can be sent to: ACHWire Payments can be sent to: Accentaris 11039078 Routing: 10400016	172-006-7		<u>Remaining Fee</u>	\$0.60 \$0.01							\mathbb{U}
	February 21, 2019 Involce No: 120-11972-006-7					g					7
EMIT ADDRESS: synble to: & Newsiam, loc ids ids	February 2 Invoice No		Current Payment Due	\$7,000.00	\$7,000.00	Yota) \$70,000.00					
PLEASE NOTE NEW RENT ADDRESS: Please auko elects prydole fo: Locknewol. Andrers & Newaan, Pac. Comata, NE. 68103-1165 T: 713-266.4500 INVOICE		isynthesisty setter statistics and setter setter statistics and setter setter setter setter setter setter sette Profesional Services through February 22, 2013	Previously tavolced Xo.Date	\$63,000.00 \$63,000.00	CURRENT PAYMENT DUE THIS INVOICE	Prior \$63,000.00		019			
			Total To Date	\$70,000.00 \$70,000.00	RENT PAYMEN	Current \$7,000.00		Date: 02-21-2019			
Lockwood, Andrews & Newnam, Inc. A LEO A DALY COMPANY	thority, TIRZ 17	101121121121121121212121212121212121212	Original Contract Amenut	\$70,000.00 \$70,000.00	CUR	Billings to Date					
	Scott Bean Memorial City Redevelopment Authority, TIRZ 17 9610 Long Point Dr., Suite #150 Houston, TX 77055	LEUROPASSIESSAN SALAR SALAR Professional Services through February 22, 2019	Name	Preliminary HMCP Crant Investigation Total	•			authorized by Wischer Cartery Long			
	Scolt Bean Memorial City A 9610 Long Poin Housion, TX 771	Professional Serv	Project Name	Preliminary Invest				Authorized by: ,			

.

Code # 1738 A 2/21/2019

(ode # 6322 2-21.2019

# 13 CIP T-1738A February 22, 2019 176410 January RHTS503 James Vick		nent.						22,899.60	\$37 800 6N		1006 # 10138 A
Work Order # 13 Clip T-1738A Date: February 22, 2019 Involce No: 176410 For Period: January Project No: RHTS603 Project Manager: James Vick		eetings; Project Managen	Rate Amount	245.00 18,865.00	139.98 2,799.60	98.80 1.235.00			Total Due this invoice		
To: Memorial City Redevelopment Authority/Houston TIRZ 17 Attn: Linda Clayton Attn: Linda Clayton co Hawes Hill and Associates LLP PO Box 22167 Houston, TX 77227-2167	Project Memorial Drive Drainage and Mobility	WORK PERFOMED: Respond to 30% Comments; Prepare 80% Submittal; Coordination Meetings; Project Management. Professional Services from January 1, 2019 to Jenuary 31, 2019 Professional Personnei	Mours Princinal	James 77.00	, Clayton 20.00	12.50		Total Fee Due This invoice	Tata		Total Budget: \$286,820.00 Prior Billed: \$62,484.60 Current: \$52,899.60 Billed to Date: \$85,384.20 Percent Complete: \$30% Remaining Budget: \$201,435.80
Work Order # 12 CIP T-1732AJB Date: February 22, 2019 Notice No: 176408 or Period: January Troject No: RHTS502 Manager: James Vick		roject Management.	Amount	845.00		1,959.72	6,291.64	00 500 BC	28,306.26	olce \$28,306.26	bioelstele
Work Orde Date: Invoite No: For Period: Project Manager: Project Manager:		i with Stakeholders; F 1. 2019	irs Rate	4.50 210.00 8.00 245.00		00 139.98	50 65.88			Total Due this Involce	
To: Memorial City Redevelopment Authority/Houston TIR2 17 Attn: Linda Clayton c/o Hawes Hill and Associates LLP PO Box 22167 Houston, TX 77227-2167	Project North Gessner DD CD	WORK PERFORMED: Prepare Final Design - 95% Submittal; Coordination Meetings with Stakeholders; Project Management. <u>Professional Services from January 1, 2019 to January 31, 2019</u> Professional Parsonnel	Hrincipal	op, Rhett James		Bruner, Clayton 14.00 Staff	Ascolese, Joseph 95.50	Total Fee Due This invoice			Total Budget: \$243,620.00 Prior Billed: \$119,215.67 Current: \$28,306.26 Billed to Date: \$147,521.83 Percent Complete: \$175,521.83 Remaining Budget: \$96,098.07

Remit to: SWA Group PO Box 5904 Seuselito, CA 94966 +1.415.332.5100

Please refer to our invoice number and Project number when making peyment. A discount of 1% on current charges allowed if peid in full in thirty days. A service charge will be assessed on all past due accounts.

•

MA Group 2 Box 6904 ausalito, CA 94966 1.415.332.5100 emit to:

Please refer to our involce number and Project number whan making payment. A discount of 1% on current charges slicwed if paid in fuil in thirty days. A service charge will be assessed on all past due accounts.

SWa

Swa

swa

VORK ORDER # 15 On-Call	Date: February 22, 2019	176417	January	RHTS601	James Vick		
WORK	Date:	invoice No:	For Period:	Project No:	Project Manager:		
			To: Memorial City Redevelopment	Authority/Housian TIKZ 17	content of the second sec	PO Box 22167	Houston, TX 77227-2167

Memorial City Redevelopment Authority Professional Design Services Project

WORK PERFORMED:

			-	
and Stakeholders.	2019 to January 31, 2019		Hours	
Beltway 8 Trail Coordination with TxDOT and Stakeholders.	Professional Services from January 1, 2019 to January 31, 2019	Professional Personnel		

	Amount		490.00		489.93	
	Rate		245.00		3.50 139.98	
	Hours		2.00		3.50	
l Personnel			James	6	Bruner, Clayton	
Professional Personne		Principal	Vick,	Associate	Brun	

979.93 \$979.93

Total Due this Invoice

Total Fee Due This Invoice

Authorized Fee: \$ 25.000.00

_	_		_	
	20,922.45	979,93	3,097.62	
•	ŝ	s	Ş	
	Previously Billed:	Current:	Remainder Fee:	

Code # 1925

Ramit to: SWA Graup PO Box 5904 Seusalito, CA 94986 +1.415.332.5100

Plasse refer to our involce number and Project number when making payment. A discount of 1% on currant charges allowed if paid in full in thirty days. A service charge will be assessed on all past due accounts.

•

TIRZ No. 17 - Memorial City RDA e/o ETI Bookkeeping Services Suite 108 17111 Rolling Creek Drive Houston TX 77090 Suite 200 17111 Rolling Creek Drive Houston Texas 77090 281-444-4866 Equi-Tax Inc. BILL TO

DESCRIPTION	AMOUNT
Monthly Consultant Services fee per Contract	400.00
Invoice emailed to:	
Michelle Lofton at bkp1@etiaccounting.com Scott Bean at sbear@haweshill.com Linda Clayton at lolayton@haweshill.com	
	10 de 14 2009
	Total \$400.00

Invoice

DATE INVOICE# 3/1/2019 53673

	3/20/2019	gineering	isly Current ad Due 55 \$11,060	\$11,060				Ð	Locle # 6327 3/20/20 19 1
	e payments to: 1931	Project Name: <u>Feasibility Study-Flood Mitigation Partnership Opportunity – General Engineering</u> Project No. <u>1008</u> Professional Services: <u>from February 20, 2019 to March 20, 2019</u> Contract Type: <u>Lume Sum</u> Invoice Number: <u>002</u>	Total Praviously Invoiced to Invoiced Date \$25,945 \$24,885	Total This Invoice:	Total \$35,945				
Ge	Please send ACH/Wire payments to: Amegy Bank Routing No.: 113011258 Account No.: 5733771331	Partnership Opp. rch 20, 2019	Remaining Contract Amount \$19,355	Tot	Prior \$24,885				3200 Wilcrest Drive, Suite 220 • Houston, TX 77042
Gaug	Pie Acr Acr	ed Mitigation 20, 2019 to Ma	Percent Complete 85%		Current \$11,060	\wedge	t		rest Drive, Sui
D ²	rable to: (e 220 suite 150	lity Study-Floo from February	Contract Amount \$55,300			ue stid correct			3200 Wilc
	Please make checks payable to: Gauge Engineering, LLC 3200 Wilcrast Drive, Sulte 220 Houston, TX 77042 Scott Bean Hawes Hill and Associates 9610 Long Polnt Road, Suite 150 Houston, TX 77055	Project Name: <u>Feesibility Study-Flood Mitlaation Partnership</u> Project No. <u>1008</u> Professional Services: <u>from February 20, 2019 to March 20, 2019</u> Contrast Type: <u>Lumb Sum</u> Involce Number: <u>002</u>	Task Name Feasibility Study		Billings to Date:	I certify the above to be true and correct	Muhammad Ali		
Invoice Date Invoice	7018 Q1(12)1/E	Rate Amount 900.00 900.00					Total September 1	Payments/Credits 30.00	Balance Due 2000.00
	[Ap C					10	a Note to 133	
								n alt	

•

Engineering Engineering	Please make checks payrable to: Please send ACHWire payments to: 320/2019 Gauge Englinearing, LLC Amegy Bank 3200 Witzrest Drive, Suite 220 Routing No.: 113011258 Houston, TX 77042 Account No.: 5793771931 Scott Bean Associates Scott Bean Hawes HIII end Associates	Project Name: <u>Gessner Read Mobility & Drainage Improvements PS&E (T-1732A & T-1732B)</u> Project No. <u>1004</u> Professional Services: <u>from February 20, 2019 to March 19, 2019</u> Contrast Type: <u>Lump Sum</u> Invoice Numbar: <u>005</u>	Task Name Contract Percent Remaining Total Previously Current Amount Complete Contract Involced to Payment Plans, Specs & Estimates \$696,200 82% \$125,316 \$570,884 \$536,074 \$34,810	Total This invoice: 534,810 Billings to Date: Current Prior Total \$334,810 \$535,074 \$570,384	I certify the above to be trugand correct Prove # 173.04 Muhammad Ali	3200 Wilcrest Drive, Sulte 220 • Houston, TX 77042
Badder and a second sec	Please make checks payable to:Please send ACHWire payments to:3/20/2019Gauge Englineening, LLCAmegy Bank3/20/2019Gauge Englineening, LLCAmegy BankAmegy Bank3200 Witchers, Suite 220Routing No: 113011258Houston, TX 77042Account No. 5793771931Scott BeanAccount No. 5793771931Scott BeanAccount No. 5793771931Hawes Hill and AssociatesSito Long Point Road, Suite 150Houston, TX 77055Account No. 5793771931	Project Name: <u>Preliminary Engineering Services for Detention Basin A – (T-1735B)</u> Project No. <u>1007</u> Professional Services: <u>from Februery 20, 2019 to March 20, 2019</u> Contract Type: <u>Lump Sum</u> Invoice Number: <u>005</u>	Task Name Contract Percent Remaining Total Previously Current Task Name Amount Complete Contract Involced to Invoiced Payment Preliminary Engineering \$347,900 36% \$215,698 \$132,202 \$93,333 \$38,269	Total This Involce: \$38,269 Billings to Date: Current Prior Total \$38,269 \$93,933 \$132,202	I certify the above to be true affd correct Ruhammad Ail Ruhammad Ail	3200 Witcrest Drive, Suite 220 • Houston, TX 77042

B. \$8,500.00 Cocke # 6340 3/20/2019 Balance Due: \$8,500.00 Amount \$8,500.00 3/11/2019 Invoice #: 43015961 Hawes Hill & Associates, LLP, P.O. Box 22167, Houston TX 77227-2167 713-595-1200 FEIN 76-0565638 Total DESCRIPTION Hawes Hill & Associates Memorial CIty Redevelopment Authority/TiRZ #17 PO Box 22167 Houston, TX 77227-2167 C.O.D. Professional consulting fee, March 2019 2 1 ; Terms: Bill To: Code#1734 5/20/2019 -Current Payment Duo \$4,358 \$14,640 Total This Invoice: \$44,391 3/20/2019 Previously Invoiced \$58,040 \$39,222 \$9,760 Please send ACHWire payments to: Amegy Bank Routing No.: 113011258 Account No.: 5793771931 Total Involced to Date \$83,433 \$43,580 \$24,400 Total \$83,433 \$43,580 \$24,400 3200 Witcrest Drive, Suite 220 • Houston, TX 77042 \$642,068 \$174,320 \$463,600 Prior \$58,040 \$39,222 \$9,760 Remaining Contract Amount Project Name: W140 Channel improvements Construction (T-1734 T-1734B) Gauge engineering Percent Complete Current \$25,393 \$4,358 \$14,640 Professional Services: <u>from February 20, 2019 to March 20, 2019</u> Contract Type: <u>Lume Sum</u> Invoice Number: <u>005</u> 11.50% 20.00% 5.00% Contract Amount \$726,500 \$217,900 \$488,000 I certify the above to be line and correct Construction Mgmt & Inspection Construction Phase Services Construction Materials Testing (Aviles) Construction Mgrat & Inspection Construction Phase Services Construction Materials Testing (Avites) Scott Bean Hawes Hill and Associates 9510 Long Polnt Road, Suite 150 Houston, TX 77055 Please make checks payable to: Gauge Engineering, LLC 3200 Witcrest Drive, Suite 220 Houston, TX 77042 Task Name Muhammad All - PE **Billings to Date:** Project No.

Lockwood, Andrews Research of the Network of the Sprith of	Source 122, 2019 Marcowald City Redondered Mathemite, THZ 17 Mill Over Point De, Soke #19 Housteen, Teaus 77056		the factors of the second Across of the second acro	Acteant Nr. Project Name: Original Precent Renarising Stat Involuced Previously Center Rysens Accessity Nr. Castrick Amount Considerts Canterd Annover To Data Tencicol Data	Memodul Dine Medifity and Dailage Interventendes 		CURRINY INVIGEN DUE THIS INVOICE \$12/12/135		Curren the training the second of the second s		12:22 mar - Low - Low - Low - 2000 - 2000 - 100	
Andrews Plase Hore NEW NEW Flase make checks provident & R. Licht, Low Jobs Pools, NE edito-1165 COMPANY Comsta, NE edito-1165 T 1713-266-600	Scott Ream Ameria City Redendegment Authority, TIK2 17 9610 Long Point Dr., Sufte #150 Hourden, TX 77055	(T-1712) Town and Country Improvements - Construction Phase WISS No. N. 177000-00174 E. T. J. W. W. S. P. J. W. S. M.	Profestional Services from December 29. 2018 throwsh March 08. 2019	Orizinal Torial To Previously involved Current Payment Envised Linnes Confized Ameeni Dais To Date Dor	Constaurion Phess Services 580,000.00 580,000.00 580,000.00 50.00 50.00	Construction Phase Add \$40,000.00 \$40,000.00 \$0.00 \$0.00 \$40,000.00 \$0.00	Construction Mart and \$425,300.00 \$425,300.00 \$425,300.00 \$425,300.00 \$0.00 00.00	Construction Materials Testins \$266,600.00 \$225,626.02 \$225,676.02 \$0.00 \$42,973,95 Services	Total \$\$13,980,00 \$770,326,02 \$730,226,02 \$40,000,00 \$42,573,93	CURRENT PAYMENT DUE THIS INVOICE: \$10,000.00	Diffingut to Date 540,000.00 \$730,926.02 \$770,936.02	without and the frong and so 22-2018

.

•

Code # 1717 3/21 (2009



Gauge	WBS Na. H-T17800-00163 ([-1734 & T-17348])	OUTLOAND LANES FOR CALLEND FOR THE OUTLOAD CONTRACT THE Approved Excenter Time 2 0 Approved Excentions 2 14		07.156.161.313		Total Chesge Orders Io Date 7 1020					9/50	0 1 1 TOTAL EARNINGS TO DATE \$1.058.105.46			1.1	TOTAL AMOUNT DUE COMPRACTOR THIS DATE 4329,242.44 BALANCE REWANKING 117,726,450.54	AAA Marais M.P.E. Davo	
Memorial City Redevolopment Authority(TIR2 17 Estimate and Confiferte for Payment Unit Price Work	Briar Branch (W140-0) (Casmol and Starns Imporemiteris frecontioution and Crainage Register Densitedon Interautors. Inc. 181 Holiner St., Houston, Texas 77000	41217212815 810777715 8107727275	: 10.22% in Place: 5.68% 10/16/2019 Dug Pelicy Due Date: NYA Current NYSBE: 0.22%		Ka. Date Ext. Ceys Amovel	Total Approved Extensions D				Total Pending Work Change Gredores to Dale 2010	5.68% Completa \$0.00		6% 01 Stjota,106.46 <u>453.405.32</u> 0% 01 Stjota,106.46 <u>453.405.32</u> 553.472	0.00 Days @ \$5,000.00 \$5,000.00	4), 404, 104, 104, 104, 104, 104, 104, 104		Contract and States Reviewed By Manand M. P.E.	Scrif Bean, 1722/7 Evertishen Date
Enfanta Ma. 3 Carafitase 022M19 Estimate pala convL10	Projeci Name Contractor Name Address	Contract Data Start Date Correct Contract Competeen Deb	Secretarian Compresent Parts Percentage By Thm: Date Insurance Exp.: 10	CONTRACT ANOUNT TO DATE : 1- Original Cantast Amount 2- Anonewic Charles Direct			3- Approved Work Charge Cherchves			•	A. EARNINGS TO DATE - Work Completed to Date 2. Material Stretch on Site	 Maierial Starei In Pasco Badante-Materials Accepter Noi in Pace Work Change Directors - In Place 	ş	er Uperdealange 4- Uperdeal Damages 6- Areesaments 5- krapesiar Orefene Costs	C. AMOLNIT DUE THIS PERIOD 4. Total Environs to Dia 5. Total Environs Don 4. Lass Prevents 5. Restrandin Algareteri 1. Restrandin Algareteri 4. Lass Prevents		Prepred By Canton Dation P.E.	Approved Dr. <u>Sout Boon, 1</u>

3200 Wilcrest Drive, Suite 220 • Houston, TX 77042

.

6.046 # 1734 3/20/2019 R

March 7, 2019

Gauge Conversion

Scott Bean Memorial City Redevelopment Authority/TIRZ 17 9610 Long Polnt, Suite 150 Houston, Texas 77055

Briar Branch (W140-01-00) Channel and Straws Improvements Reconstruction and Drainage Reference:

improvements Gauge Project No.: 1005 WBS No. Nr171000.0018-3 (T-1734 & T-1734B) Reytec Construction Resources, Inc. <u>Perment No. 03</u>

Dear Mr. Bean:

Reytec Construction Resources, Inc. (Reytec) has submitted estimate No. 03 in the amount of \$529,283.44 for construction services rendered through February 28, 2018. Based on our review, Reytec has compiled with all requirements stated in the estimate and we recommend payment of \$529,283.44 to Reytec.

The following billing information is to be used for payment:

Reytec Construction Resources, Inc. 1901 Hollister St. Houston, TX 77080

If you have any questions or require additional information, please feel free to contact me at (832) 318-8800.

Sincerely,

Muhammad Ali, P.È. Project Manager

Reytec Pay Est. No. 03

Enclosures:

Reytec Construction Resources, Inc.

1901 Houston, Texas 77080 Office 713.857.4003 Fax 713.681.0077

Briar Branch Channel & Straws Improvements Project Pay Application

March 4, 2019

Gauge Engineering 3200 Wilcrest Drive, Suite 220 Houston, TX 77042 Mr. Muhammad Ali

.

Memorial City Redevelopment Authority Baiar Banah (W140-01-00) Channel and Straws Improvements Project WBS No. N-T71700-0018-3 Re

Dcar Muhammad,

Please see attached for pay application 003 for February 2019, Briar Branch (W140-01-00) Channel and Straws Improvements.

Thanks,

Koften Zuarler Broject Mianager Reytec Construction Resources 833-644-8322 kidroxierfiliteriec.net

APPLICATION AND CERTIFICATE FOR PAYMENT

AIA DOCUMENT G702

PROJECT NO: WIES No. N-T/2000-0018-3 THZ 17 CIP No. T-1734 & T-17348 PEROD TO: 200018 APUCATION NO. 000 TO (CWHER): Normarial Clip Redevelopment Authority Brite Baach (WHA-OL40) Channel and Summa Improviments FROM (CONTRACTOR): Registra Connection 1901 Houster A. Houster, Taxas 17040 Ph. 713-957-4053; Fax 713-861-0077

CONTRACTOR'S APPLICATION FOR

10.794.967.00 10.794.067.00 10.704.106.46

Application is much by Phymeric, an drown blow, Incorrection which Control. Constantistication, AM Documents (2012), A tabeled. 1. Oronthue. Control and the Automatic Control. 2. Device Internet Constance Onto 2. Control Control. 2. Control Control Control Control Control Control. 2. Control Control Control Control Control Control.

of Completed Wark 5 63.405.32

ş *

5, RETAINAGE:

of Stored Justicital

Total Relainage (Line Se + So or

Section of the sectio	S.M.M.		
Charage Orden approved in	5	ADDITIONS	E DEDUCTIONS
previous months by comer	mer TOTAL		
Approved the fillenth			
hunder	Date		
			-
	TOTALS	•	
Net charge by Change Orders	Drden		
The undersigned Contractor contiles that to the basi of the Contractor's	stor contines 0	helto the bosi of the Co	Nacian

To prevently a representation or not our for force mer provide an expension of Phynitely has been completed in a condutor with the Contrast Document, has a surveing term been paired by the Contrast for Work for which provides Condistions for Phynnesis with based and phynesis received from the Owner, and contrast Phynesis dation haven based and be one date.

415A1770 5 239 283 AA

G. TOTA. LONGLA DATALA RETUNDET A LONGLA DAVIDA DATALA RETUNDET 2. LLESS RENDONZES CHERTONZES 8. OLUMET TOTALEN, PLUE STENDANGL 8. OLUMET TOTALEN, PLUE STENDANGL 0. OLUMET DALLENS, PLUE STENDANGL

\$ 1,014,701,14

202/20/CO MIR -----Site Site ł CONTRACTOR: INGPECTOR: By:

5 Br The Cardenire and respective. The AutOMIT CLETURID to paythe exity (b) ha Contractor morth herbit. humans, physical and recognism of payment in a lefted Contractor in a say (daths of the Dimers or Cardington under the Donneed. AKOUNT CERTIFIED I I OLI I AND I CONTRACTOR I AND I AN

C#41-K02D

1702252

Comm. Explose 01-27-2022 [

EUNICE MORALES

CCUCIAN and CCUCIA

Page 1 of 1

MONTHLY SUBCONTRACTOR PAYMENT REPORTING FORM	Jocument Uus42	MONTHLY SUBCONTRACTOR PAYMENT REPORTING FORM	ws improvements	WBS No.: N-T17000-0018-3	i Resources		CERTIFICATION	Keesan Drovier Contract, hereby certifies that (1) Contractor has paid all subcontractor's Representative for the above referenced Contract, hereby certifies that (1) Contractor has paid all subcontractors, except hose noted below. (2) Contractor with all applicable Contract Documents and laws, and (2) Contractor and (b) in accordance and compliance allegations of deficiency in Work. The term "subcontractor" as used herein, includes all persons or firms furnishing work, materials, succeas or explorent. Contractor with a succeasing the persons or firms Project for which the City made partial payment.	EXCEPTION: Contractor sent Payment Notifications to the following subcontractors explaining why Contractor withheld payment. Copies are attached.	Subcontractor Name:	SUrret Addrose:	City, State, and Zp Code:	Amount of Payment Wilhhald:	Date Peymont First Withheld:	Description of Good Faith Resson:	Keepan Droxler (Print or Type Name of Contractor's Raprasentative)	03(01/2019 /03te1 / /	COMMA UD Notary Public in and for the State of Texas	- FEWICR MWALLS	00642 02-01-2010
CITY OF HOUSTON STANDARD DOCUMENT		MONTHLY SUBCONTRAC	Legal Project Name: Briar Branch Channel & Straws Improvements	Outline Agreement No.:	Contractor's Company Name: Reviec Construction Resources	Address: 1901 Hollister St. Houston, Texas 77080	CE	Keegan Droxler Contract, hereby certifies that (1) Contractor has p made such payments (a) In proportion to the amo with at applicable Contract Documents and laws; allegations of deficiency In Work. The term ^b furnishing work, materials, services or equipment. Project for which the City made partial payment.	EXCEPTION: Contractor sent Payment Notificat withheld payment. Copies are attached.	Subcontractor Name:	Stroat Address:	City, State, and Zip Code:	Amount of Payment Withheld:	Dato Paymont First Withheid:	Description of Good Feith Reason.	(Signatury of Kolandia A Bélgue sentatives)	SWORN TO AND SUBSCRIBED before me on:	EUNICE MORALES EUNICE MORALES EVENTE PODID, Stare of Toxas EVENTE EXPLOSE EVENTE EXPLOSE EVENTE EVENTE EXPLOSE EVENTE EVE	쇎늉	
Affidavits of Payment and <u>Memorial City Redevelopment Authority/TIRZ 17</u> Unconditional Waivers of Liens		Review Constituteding Resumed in the base had and her reviewed a reverence mumori in the run of	332_500.00 for services, aquipment or material furnished to Memorial City Development Authority/IRF2 17 for the	Briar Branch Channel & Straws improvements Project (WBS No. N-T17000-0018-3 located in Houston, Texes,	and does hereby release any mechanics lien or bond right that undersigned has on the acve referenced project to the following extent. This release covers a montress norment for ishor, southes equipment or meterial furnished h	the Memorial City Redevelopment Authority/TIRZ 17 through Epitueny 28, 2019 only, and does not cover any		undisputed amounts due to its equipment lessors, suppliers, subcontractors, labor, insurance and taxes applicable to this work have been paid in full through the date set forth and hold the Memorial City Redevelopment AuthonityTiRZ 17 against any loss arising from the nonpayment thereof	RBED before me on:	EUNICE MORALES COMPALES COMPALIZATION COMPALIZ		My Commission Expires: 1100 AAVIV VWVVVVV								

.

	ael & Straws Improvement			it 1,503,598,56	(1,503,596,56) (MBE) 1 Errs Edd Co		469,873.33 25,382.00 (444,491.93)	
·Reytec Project No. 2203 Deviated Plan	2203: Bilar Branch (W140-D1-00)Channel & Straws Improvement \$18,794,957.00 0% complete	3 02/01/2019 to 02/28/2019 Overáli Goak	\$ 3,383,092,26 \$ 22,555,00 \$ (3,342,485,26)	MWSBE Goal: WBE Goal: Contracted: 8.00% \$ Qurrent: 0.00% \$	-E.00% \$ Individual Good: Access Dark (WBC) Contrarred: Good: Access Dark &	Ross t • 1 – f	Contracted: 2.50% \$ Current: 0.14% \$ -2.36% \$	
·Reytec ^F Dev	Project Name: 2 Contract Amount: 5 Work Progress: 6	Pay Estimate Number: Pay Period: O	Contracted: 18.00% \$ Current: 0.22% \$.17.78% \$	Gosk 1,879,495.70 22,555.00	- <u>3.78% \$ (1,838,888.70)</u> - <u>3.78% \$ (1,838,688.70)</u> Moran Construction (MBE) Moran Construction (MBE)	(11,48,371.67) (MABE)	67,561.85 5,650.00 (52,436.85)	Fabco (MBE) 1.00% \$ 187,349.57 0.00% \$ [187,349.57]
				Contracted: 10. Current: 0.1	Moran Contracted: 6.1	1.1	Contracted: 0. Current: 00	Contracted: 1.(Current: <u>0.0</u>



I	THE ST CERVILLAND A THING			Tere Lung Persenter Partie 140	110 million	Reprint Cost Invelor Perturbation 1001 Notifier II. Hornibre, Trans 1700	and the second second		Try Frides Py Line (1916) Ref Dys The Medi	
1	South States and the state of the second	ŝ	11110	A STATE OF	Chinese Amount 1.	(Contraction) 194 Marine Contraction (The Marine Balant) 1640 marine Bares	TeDan.	The Kend Dame		" " Stanielia
	Trace to addet Lifter Curl	5	16		0,000,852		107	1		6
0.0	Type (1.4 miles (Pro Cast)	5	3			1		· · · · · · · · · · · · · · · · · · ·		-
Ĺ	Tripe & Index Prey Case	l,	Ĩ				8			8
3	Type Child the Cas	3	Ĩ	21001.01			5		1	5
10.0	Ther (Min Pri Cast	5		a) a ()					-	-
101	August will & Dendey (3 drokes)	5	9	6003			6,00		- -	C
210	tative tow freshment the JUP RUT	5		1200010	and the lite		3	-		
ſ	Pret Ple Whit Advertised	,		CLARCE SILE	20000313		1 64	-		2
ſ						TANK TANK TANK TANK		1 313,404,100	01101111	
ſ	Channel & Retaining Mail Trans									
72.0	Renove and Design of Control on the part renovements	t			Parote 11					5
2	Second and Diservery Connect Council which & I put have	ŀ	5	31240	Shitterio	A CE	82	104	3114Z S	5
2.0	Canatti Curved Links I' rended Michael	5	3	INCLASS .				-	-	
1	Approve and Disponent comber and address helder		Î	100000155	İ	-	-			
L	Resulting Third Name		100) WT LL L	od ware 155	-	-	•	·	s
, 1	Combles (Spec Real CON)	Ι,	151	11160	(22 m (41)		100		-	5
	Printers Have an inter 51, Tref of		415	111200		· · · · · · · · · · · · · · · · · · ·			·	C
	Type GMs	2		(2102)(1					F	5
Г	Listered Concrete Dark film Proposed With County)	Ļ	R	Certa I I			1		-	C
1	Newson and Charters Number 20 and 12		465						F 1	2
979	Robow Cash Beliets Well	1	1001				141			ĩ
5	Turnerson family in Saula William		3	111100	140,5040	\$15.000	310.00	-		54
Π					1.002353-00	Schold Convert & Recipient term	these is	1 2HAK	3 (34,14,44)	
	Periling Kamp									
14.0	Actions) and Stamps Strengto Schwargs, all philings \$11	31	100(201			1			8
070	A SALES AND THE PROPERTY AND A SALES AND A SAL	н	75	j1,001	1			. E	•	5
10.0	2) John in Argenting Showers 4 MADAD Stating put wants	2	410							5
47.0	Normer and Report of Schnedels, of Oxformer	2	3			-	19 8	•	- -	54
16.0	Preset Dated Construction		4130				1			E
0.0	Auchure & Present Linder Charte	Ι,	14		Pater State		No.			14
Г	User for Unes Including Solutions (Dry Well-W) fill	NOI	1	0076/15			24 V			5
	Lines had by a federate fi berh	E	1 Te		ant and		R.M.		-	
	Particles in Countries discrete friends and the first	\$	12 C				47			
	Relevant Courses Pression of Party	E	101							6
Г	Construct in Michael and makes Ascards Primes	Ŀ	ĝ				9		-	F
1	Deducated Strucks 14 Arch	3	11		100 DE 115		ak	-	-	5
Ł		Į,						ļ	ł	

	2005 (), CP MA. FJ/74 (, T-174);			Musarial Giry Redevice partest Auchedry 1410 Long Petri Rood, 21 155 Hawkur, Tatan 17015	Although August Aug	×	Roybe Contrivition Assourtur, loc 1 ph Hameric XI. Novelar, Texts X1010	HAVE THE LINE		Pay Purket Pry Extendentia Kuly Deya Yula Kurula	88 88 88 88 88 88 88 88 88 88 88 88 88
金属	にいたは、「「「「「「「」」」」」」」」」」」」」」」」」」」」」」」」」」」」」」	tide	Number of	The second is the second se	Chebert Linease	Printing.	This Bound County by	1000	This Denth Samo	Land in the story Same Jose Annual Same	*Conside
9	a surface and thomas frame files district dismons.	Ι,	ŕ	199913	SLETCOL	ſ					
1	If success and Departs Years Place by buth durated	Ļ	a	144.00		t		3			
8	Easterned States I and Part Skirth Chinks I	ĺ,	ľ	10000				3	-		
a	Mag & absorber Lifberth Steam Second	I,	R	101113							
9	Place & Alardies 24 hours from Lower	Ĺ	ľ	Data Data	100	ſ					
1	Pref 3 Automber 34 Judy Earter Level	Ĺ	-	DO NG		l		101			
	Child and CCTV builden forms from	ļ,	1	21100	ŀ	ſ					
12	Topic Constraint (a 42 Arch Sumptry and proving survey (ACA)	3	ž	35,000	104404			3			Ľ
1		,	ľ	100000		ļ		3			
ŝ	If a the local had former with the	ļ	٩	1200202	119,000,000	ľ		970			
ŧ	Marchele Rear for Test Version and Contra	[Î	50 000 13		Ì		1			
ŧ	Internation Street Inc. Concrete Ann Street, with \$555 mich street	5	ľ	1120000		r					
2	Cons Deals Muddle	,	1	1000		ſ		9			
ŀ	The Drive and an international and and a second a structure	,	Ř	2752	ľ	İ		2			
3	I defects thisman bit? Same tenant by open aut	Ļ	9	07123		ľ		g			
3	10 kich Onemary 423 (trees from hy reported	,	#	10.012		ſ		9			
3	Life back discontent NUP Takens forward by optics and	Ľ	Å	20105		ſ		Ş	14241	11271 E	
48.0	4.3 -buth (Marrier) (K.7 Sages Second by page 3 and	ļ,	A	11001	11,000.00	t		9		ļ	
41.4	Address of the part of the part of the second		8	20005		F		ş		-	5
	73 darks fitured and 2 dame for at he once that	Ļ	3	10000	147024			3			
÷	PLC M() Parts Security special	,	ч	1900		h		3			
999	T.C. MCM Starte Scient by Alice cal	,	1964	1001015	0004618111	ľ		9	-	-	5
61	IFAN' BED FROM Some by stam DA	Ļ		(11/10)	ŀ	1		NO.CE	5 StA. Printe	0 C (11.11.04	
270	Pick City Dave Rever by some and	ļ,	100		STRAUNDARD	ŀ		ŝ	L	-	14
đ	UTH BCL Stars Gans by parts the	Ľ	1		1	T	1111	100	ALTINE 1	ALTERNA A	ł
3	TOP ACL Parts in such such and		8	10201		ŀ		3		-	2
ŝ	() Tal' CCA Stern Served by taken Cut	I.	10M	3141.00	۴	t		1			E
ž	1012 JU Sem Seer in sen al	,	1024	Participal Standard		ſ		2			
2	Lawring for DT TUD	5	ľ	100-000-0013		t		j		-	ľ
3	Charlene Part of Coll M. Dill Dan	5	ľ	HOLDOLIN'S	2000 Vrd	t		3		-	
2	Including the lateral		1	ALC: NAME OF COLUMN		ſ	ſ	101			
3	Needer an Childrey House real to the start for the		ľ	1000 ST		t	ſ				
	And the set of the and set of the		-	2000	100027044	ſ		5			
1	Invelor bestubility	ĺ.	Ī	00000		ſ		8			
a	Rectine Statistical	3		SALYOLDA	of D44/91	h		1	-		5
I			ľ	211 802.00		ľ		1			
		ļ	ľ			t					

	wer na n's footories Tree is cop na tsysk à tsisk i			tikerjedal City Andriz Norowal Avthed 2 1410 Lung Pulici Rozz, Ibn 159 Mowier, Ta wa 17155	oprovit Avtracty		Roylet Gantinden Rosent th Int 1901 Holith FL Housing Tourn 17011	1	-	Pry Present Pry Expansion Kula Deyn Hain Banth	
(Internal)	「「「「「「「「「「「」」」」」」」」」」」」」」」」」」」」」」」」」」	3	ALC: NO.	North Tan	There are a second	- inder	This present in the second second	Le De La	The Heat Stand	(Tritikaniani Brind	Xinut
Į.	E fuit riverte Unite Live in Overand			Ī	moct ws			3	ĺ	-	
	a test from the substant standards in televised in [1]	Ĺ	11	100%13				3	-	-	
Ţ		ļ,	1		Success:			1	-		
0.01	IN MARKEN CONTRACT IN SUCCESSION OF ANY ANY ANY ANY ANY ANY ANY ANY ANY ANY	5	1					6270		-	
111	الخمش والمجدور سريار ويسميطون	5	-					8.04	÷		
112.6		3						4.00			
	Į	ļ,	2		2000001			2		-	
5261		Ī,	1					44	1	*	5
1721	Persis domand varies arrive loved - Auch	İ,	1	0010013				1	-		
		ſ			COLUMN COLUMN		Printing To part letter		•		
	Parement Marking Roma	ſ									
133.4	Extend for Monteel Trave Carthy Family Conference (1977)	3	ſ	20	1001115			1471¥	÷		
124.0	Thermoderate forwards (Lindson, 4 inch Mittee, Labo	ļ	4	24,60							
0 51	L	İ,	ľ	95				9		-	
		ſ	I			ŀ	Berling and the real static for the state	ļ,	-		
	Firthe Unit Petron	Ī			_			Ī			
4.47.4			i i	197317				9	-		
	Linds Free Lines wards human	ļ,	18		10007715						F
1102		e	18	(3) (J			-	6 M			
8.8EF		ę	8						•	•	
140.0		2	1					64 T			.
141.0	APART IN	2	301	007511				04.0			
142.0		5	100					3	*		
143.0			8					100-10	1		
140		2	-	Cont is				24.0	•	•	5
	Critica damate #0 femilionetes \$11 m		tee.	6015				0.00	1 1		c
	Ranz Cure's' and the advect lares hand the second in the		ŝ					5			5
144.1	Prout dans and a free on the trans	5	200	Trees of	10,000			A.Cot	1	1	
•	Instantioned dute for here. Canadrig in a rec		100					0.0	-		5
		Ī			1141119-00		Bradiquer d'este Cruit Préces			-	
	Cash Alimetres	ľ									
47.4	Ohy al Newbork Frankt	5	ľ	200211				5	F 4	• · · · · · · •	1
144.0	Then DA Parts	5	C	Second 13				άM	- - 1	1	5
1420		,	ľ	27405				40	1		5
150.0	That Areas	I,	ſ	Break (810		-	5
141.0	Transis Party for the table and lake of the should be a fit	Ϊ,	ſ	200001	12400000			8.0		-	2
		İ	I								

.

·

.

•

Project Built Broach (M1404140) CRUNNEL SUTTE Inprementation 18 No. NT (TRANSMILL) 12 17 CP May T-1724 & T-17348	Ja a E	Owners Arminiai Gay Baderuboonaat Austoulty Kite Leog Pain React, Eta 150 Sautsa, Teara 77066	present Australity Fis 194	Gooffractors Registe Construction Renewater, Ins 1981 Holdertar BL Henriters, Tames 7000	zbn Kareuch Treeo	Ä		(takya Una 7-y Partel 1-y Editoria (ta 1-y Editoria (ta	HACK WEINSTINING HACK
	100101	(22) (22) (22) (22)	Connect Amount	A CONTRACT OF DESIGN OF THE OWNER	201 - 140m	1.19992.5	Sin Wind, Boing	Din Lond, Bong . Teli haden Biled	A Corners
	Construction of the	COLUMN TO A DESCRIPTION OF A DESCRIPTION	000 L		-				¥.
	I	000				1			
ļ,	Į	1	ľ			5			E
-	9	81			-	3		-	
,	\$ 1 4	14 F.				3		_	5
ļ	3	(1 44)				ä		-	
I with the factor of the second such that the factor is	ŧ	1000	ľ						E
	I		1	ويتبيه وملاحوه الاقتلامية البيريور	A Berrie		1		Ŧ
ľ	ľ								
	1	2011	111100			3	1	*	E
ļ	ľ	10421				8	•		-
ļ	Î	202.00				5	-		8
	l	07.01				đ	-	1	5
			571440	-		616	+	1	5
	ľ	1221				a.m	1		5
a to design the fact that the beam of the second second second second second second second second second second	5	223	10000 125			90		-	6
2	ľ	Dolby Mark				1	1	-	2
Abbuch damate Prof. Surface Server Page, by secondary and the lat	1	(man)				đ	_		5
		60 60 ST		1	-	S	-	1	5
	2	000575			-	3		-	E
15 toth Autors PAT Tothics Searches in marked	=	1011			-	2	-	-	\$
5	Ĕ	07014	0054514		-	8			6
2	ľ	31001				8	-	-	5
100) FR	2000(5			-			-	
9	Ĩ	10 months			_	Ş,	•	•	•
	ľ	Chinese Chines			_	93	-		
	ſ	1140000	10,000			8	-	-	F.
ļ	ſ	41000				3		_	
ļ	ľ				┞	5			1
ļ	Ī		ľ						
4	1				1	t	Į.		
5	1	9001	ł						
F			- 5214,002,000	10 PT	ļ	1	-	-	A
					-	1			
	2	0010015	-		-	8		-	ŝ
5	2	and a				te S	_		6
Ī					í				
	2		12040.00			8			-

Project Amount 655.40	A State
Termis 655,40	Balance Due Cacle H 173/A 3/20/2019 (
P.O.R.	
BASIN SERVICE	
FEBRUARY 2019	
Quantity	
	B.O. No. F.O. No. Terms P.O. 1 BRLAR Description Rate Ann 1 FEBRUARY 2019 655.400 Ann

. .

restaction the test	A Chargin	đ				
Tadings Date Pry Fraded Pry Elemate Na. Rada Days The Marth	- in American Strate	971192°199713	ILISOPHY I	1101420124	01.714,4448	1900605
	The Bonk Ballet	112171211	Rothings TX	1207 445	Less Tatal Provinces Physical	Angunt due Die Externie
-computerces - Secondary Computer, Son 1921 Northan St. Noorden, Tears 170M	The lives design and an and				Less Tob	newsy
-	Constant Amount Parana	91129474070				
<mark>Chilliff:</mark> Kennin Chi likan upun 1 u Hili Long Pulifikan Shi 16 Nombo, Tara 1703	States and a second second second	Ownit Taluk		20/19		ما
ę.	- 1000 Save			รษิ	5	8
Project R.A. Busch (MTGA) (20) Gaaani & Pere Seycorrents Waa Na. MTTOV 60114 Tatt IV CO Na. 74724 & TATA	「「「「「「「「「「「「「「「」」」」」」「「「「「」」」」」」」」」」」」		(1 1 2 1 1	Contract of Contract	our / /

.

•

.

日ご どらぶ					1,050.00	\$1,050.00			lecde # 1734 3120 [2019	-1
WOTK ORDER # 8 e: March 19, 2019 o: 176627 b: February c: James Vick	rvices	jineer.	ŧ	8	1,0	\$1,0			5) n	naking paymen irty dava
NORK	al Design Sa	ind Zone En	Amount	1,050.00		Involce				amber when n aid in tuil in th
W Date: Involce No: For Period: Project Manager: Project Manager:	g-Profession	Committee 1	Rate	210.00		Total Due this involce				Plesse refer to our invoice number and Project number when making par A discourte of X4 on current chentes allowed if chall in thin thin one
_	g and Plantin	tale with CIP <u>oruary 28, 21</u>	Hours	5.00		Ť				woice number surrent cheror
4.	W140 Detailed Design for Grading and Planting-Professional Design Services	WORK PERFORMED: Maintenance Path Research Previous Design: Coordnale with CIP Committee and Zone Engineer. Professional Services from February 1, 2019 to February 28, 2019 Professional Personned						33,000.00 23,555.71 1,0350.00 24,615.72		Please refer to our invoice number and Project trumber when making payment. A discourts of 1% on current charves allowed if nad he fulls, thick heavy
Memorial City Radevelopment Authority/Houston TiRZ 17 Ath: Linda Clayton Ath: Linda Clayton PO Box 22167 Houston, TX 77227-2167	Detailed Des	ch Prevlous C om February			8			***		Plea A dis
To: Memorial City Redevelopment Authority/Houston TiR2 17 Attr. Linda Ciayton Co Haves Hill and Associates PO Box 22167 Houston, TX 77227-2167	W140	-ORMED: Path Resear <u>I Servicas fr</u> I Personnel		icipal Vick, James	Total Fee Due This Invoice			Budget: Prior Billed: Current: Billed to Date: Percent Complete:		
To: Merr Auth Attn: PO E	Project	WORK PERFORMED: Maintenance Path Resea <u>Professional Services f</u> Professional Personnel		Principal Vick,	Total Fee Du			Parc		Remit to: SWA Group PO Bex 590.4
										202
									· ·	
					00,		00,	24 LL	and the	
Work Order # 17 February 21, 2019 178398 January RHTS802 Clayton Bruner					3,500.00		\$3,500.00		U and a start	Pleasa refor to our invoice number and Project number when making poyment.
• • • • •	sign Services			25,550.00 22,050.00	nn-nne's		Ivolaa			umber when n
Date: Involce Noo For Partod: Project Manager:	fessional De			2	-		Total Due this Invoice			and Project n
ũ.	nenitles - Pro	ery 31, 2019		Total Earned Previous Fee Billing	Current ree billing Total Fee		Tot			Please refer to our invoice number and Project number when making poy
	bath Land An	019 to Janu	35,000.00	•	Tota					refer to our if
elopment 32 17 isociates LLF	Beltway 8 Pedestrian Path Lard Amenitles - Professional Design Services	January 1, 2	35,1							Piezsa
Memorial City Redevelopment Authority/Houston TIRZ 17 Attn: Scott Bean co Haves Hill and Associates LLP PD Box 22167 Houston, TX 77227-2167	Beltway 6	tMED: lion. rvices from		nplete						
To: Memorial City Redevetopment Authority/Houston TIRZ 17 Attn: Scott Bean Attn: Scott Bean Col Hawes Hill and Associates PO Box 22167 Houston, TX 77227-2167		WORK PERFORMED: Project Coordination. Professional Services from January 1, 2019 to January 31, 2019	Total Fee	Percent Complete						
	Project	2 4 4 4 0 6 6 9 6	-							Remit to: SWA Group

ems

.

swa

Remit to: SWA Group PO 80x 5504 Seuselito, CA 84368 +1.415.332.5100

Seusalito, CA 94986 +1,415,332,5100

• •

Work Order # 13 GIP T-1738A Date: March 19, 2019 Invoits No: 176864 For Period: February Project No: RH17553 Project Manager: James Vick		ieview 30% and Prepare 60% Submittal; ince at Meetings and Conferences.	Rate Amount	245.00 11,760.00	139.98 1,259.82	44.93 89.86 98.80 2,470.00	15,573,68	Total Due this knyoice \$15,579,68	Code # 17381	Please refer to our invoice number and Projoc number when making payment. A discount of 1% on current changer allowed if paid in tull in thirty days. A service chargo will be assessed on all past due accounts.
To: Memorial City Redevelopment AuthorityHouston TIRZ 17 Auth: Linda Creyton do Hawes Hill and Associates LLP PO Box 22167 Houston, TX 77227-2167	Memorial Drive Drainage and Mobility	WORK PERFOMED: Sile Review, METRO and Memorial District Coordination / Meelings; Review 30% and Prepare 60% Submitta; respond to TroOT Inquities; Coordination with Dasign Team, Altendance at Meelings and Conferences. <u>Professional Services from February 1, 2019 to February 28, 2019</u> Professional Personnel	Hours	James 48.00	Glayton B.00	arza, Robert äver, Robert 25.00	Total Fee Due This involce	Total	Total Budget: \$286,820.00 Prior Billed: \$85,384.20 Current: \$15,579.68 Billed to Date: \$100,963.88 Percent Complete: \$135,886.12 Remathing Budget: \$185,856.12	
99 7 N 4	Project		Amount	11,025.00 Ass	100 tr	5100.00 8,200.00		nti ozzi ka o	Code # 1732A	Rentit fo: SWA Group In making payment. PO Box 5904 entity days. +1.415, 332, 5100
Work Order # 12 CIP T-1732AIB To: March 19, 201 To: March 19, 201 Authority/Houston TIRZ 17 Fronce Fronce Authority/Houston Fronce Fronce Fronce Authority/Houston Fronce Project Non RHT550 Authority/Houston Fronce Project Non RHT550 Autoston, TX 77277-2167 Project Manager: James Vic	North Gessner DD CD	WORK PERFORMED: Site Review and METRO Coordination; Review / Revise 95% Submittet; Respond to TxDOT Inquites; Coordination with Design Team. Conferences and Meetings with Zone and District. <u>Professional Services from Februery 1, 2019 to Februery 28, 2019</u>	Hours Rate	45.00 245.00 11,0			nvoice Total Due Alde Invoice		dget: \$243,620.00 Illect: \$147,521.93 rent: \$19,225.00 Date: \$166,746.93 Jete: \$76,973.07 dget: \$76,973.07	Please refer to our invoice number and Project number when making payment. A discount of 1% on currant changes allowed 14 pold in full in thirty days. A service charge will be assessed on all past due scoounts.
To: Memorial Cily Redevelop Authority/Houston TiRZ 1 Auth. Linda Cilayton Attr. Linda Cilayton Co Hawes Hill and Assoc PO Box 22167 Houston, TX 77227-2167	Project N	WORK PERFORMED: Sile Review and METRO Condination with Design Professional Services (Professional Personnel		Principal Vick, James		Consultants Sweeney & Associates, Inc	Total Fee Due This Invoice		Total Budget: Prior Billed: Current: Billed to Date: Percent Complete: Remaining Budget:	Remit to: SWA Group PO Box 1904 Sevealito, CA 94966 +1.415.332.5100

•

BWS

•

swa

INVOICE NO 1180 JE DATE 92019		ncon p. com			5				Total	0535\$	007085	200000	\$496.00	\$498.00	10.00	\$0.00	100.805
DATE INVO 2882019 11 2822019 11 2822019 21		92012286920162000112010.com			TERMS				Tax Amount	\$0.00	2010s	S 0.00	\$0.02	Invoice Totat	Total Sales Tax	Total Payments	Total Due
		<u>ه</u>	9		PO NUMBER		Catelada	Veeling	Amount	8385 1	500.UU	\$100.00	\$285.00		Tota	Tola	
		Emai Prone	PEIN FEIN	INT	PON	Ares:	Room(s): (Nerrortel Drive Public Meeting	Rate	80.00	00.024	\$50,00	I Costs				
				COMMENT	NUMBER	¥.	a a	Normortal	Hours	÷.	* ~	- 61	Event Total Costs				
					DOCUMENT NUMBER	2	ì	- 8:00PM		ê							
89		8	ption No.		╞╌┼╍	25219 Frostwood Elemantary		4:00PW	tion	1 Canetoria Kental - (Elem) 4 Ferrer Ferri XIII (Elem)	al Fee	r Fee					
Remit Payment To: Spring Branch ISD 1066 N Gesener HOUSTON, TX 77055	Contact: Phone No:	BILL TO TXDOT Grisekla Gonzales 3200 TRAVIS SUITE 200	Sales Tax Exemption No.		DEPOSIT \$0.00	ä	Bulidîng(s):	Event: 2/7/2018	Quantly Description		1 Custodial Fee	 Security Faa 					
Spit 1086 HOU	Contact: Phone Ne	- 0H0	<i>й</i> ,			Schedula Location:	Bulld	Щ. П	ĝ								

•

. . . .

.

se la care anno 1970 - a care a care a care a care a care a care a care a care a care a care a care a care a c

.....

• • • • •

••• • ••• • • • •

:

\$496.00

.

• • • •

H,

Reimb Exp. – Frostwood Elementary Room Rental

DESCRIPTION

QUANTITY

TOTAL

UNIT PRICE \$496.00

THE GOODMAN CORPORATION

The Goodman Corporation 3200 Travis Street, Suite 200, Houston, TX 77006 Phone 713-951-7951 Fax 713-951-7957

ï

2/8/19

INSTRUCTIONS

SHIP TO

0L 1118

INVOICE 5

The Goodman Corporation 3200 Travis Street, Suite 200 Houston, TX 77006

Memorial City Redevelopment Authority - TiRZ 17

c/o Ms. Michelle Loftan RTI Bookeeping Services R.O. Box 73109 Houston, TX 77273

A 8 671 #000

\$0.00 50.00 \$496.00

. :

.

SHIPPING & HANDLING TOTAL DUE BY DATE

SALES TAX

SUBTOTAL

\$496.00

Thank you for your business!

Noto: * Indicates Altornate Event Pentec: 2/8/2019 11:58:17 AM

Page 1 of 1

The base Date	PROGRESS REPORT		orgenerator presentation March 1, 2 comparator log concerted Exclusion Memorial Drive (Bellway 8 to Tallowood Roady (MCT102) - February 2019	Previous % Current % Complete Complete	50% 50%	16% 16%	76% 76%	75% 76%	86% 85%	60% 70% we impacts Technical Report based on TxDDT	60% 70% ve Impacts Technical Report based on TxOOT	60% 70% və İmpacta Technical Report basəd on TxDOT			
Date Date Invoice # 1,000,00 13% 0,00% 1,000,00 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 13% 0,00% 0,00% 1,000,00 10% 0,00% 0,00% 1,000,00 100% 0,00% 0,00% 1,000,00 100% 0,00% 0,00% 1,000,00 100% 0,00% 0,00% 1,000,00 100% 0,00% 0,00% 1,000,00 100% 0,00% 0,00% 1,000,00 100% 0,00% 0,00% 1,000,00 100% 0,00% 0,00%	Houston: 3200 Tanis Stree: Suite 200 Houseon, TX 77006 (713) 951–7951 Thegoodmangorp.co			Task	1 - Purpose and Neod Commant: No antidity	2 – Altornative Analysis Comment: No activity.	3.1 – Sociosconomic Analysis Comment: No activity,	3.2 – Water Quality Conditions Comment: No activity.	 3.3 – Plant Communities and Wildlife Habitat Comment: No activity. 	3.4 – Waters and Wetkands Identification Comment: Updale Initial Site Assessment and Cumutative Impacts Technical Report based on TxDOT comments.	3.5 – Air Quality Assessment Comment: Update Initial Site Assessment and Cumulative Impacts Technical Report based on TxOOY comments.	3.6 – Ficodplatins Assessment Comment: Update initial Site Assessment end Cumulati	white lease		
Ratio 1.500.00 50% 1.000.00 60% 1.000.00 75% 1.000.00 75% 1.000.000 75% 1.000.000 75% 1.000.00000 1.000.0000000 1.000.0000000000				Project	MCT102	****						2306.00			
poration Ste. 200 56. 200 56. 200 56. 200 50. 200 5			228	Terms		00.00 50% 00.00 15% 00.00 15%	4,500.00 85% 1,000.00 60% 1,000.00 60%	1,090.00 22% 0.00 22% 1,350.00 23% 1,350.00 23%	2,000.00 75% 2,000.00 75% 15,000.00 30%			Total	Balance Du	3 Code # 1738A 3/21/2019	•
The Goodman Corpora 32000 Travis Street, Ste. Houston, TX 77006 Bill To Bill To Bill To Bill To Description The Societation of the state of the s	The Goodman Corporation 3200 Travis Street, Ste. 200 Houston, TX 77006	ice	te Loftan 100 Services	X 17213					war a tak 20 - monter i mpara Assessment vices Tak 3.10 - C multifiche Imparts Assessment vices Tak 4 - Draft and Find EA				_	13	

Purpose and Need	20%	20%
ment: No activity.		
Alternative Analysis mean No extinity	16%	15%
nenu. wo acumy. - Socioeconomic Analysis ment: No aciwity.	75%	76%
- Water Quality Conditions hent: No activity.	75%	76%
 Plant Communities and Wildlife Habitat ment: No activity. 	86%	86%
- Waters and Wettands Identification nent: Update Initial Site Assessment and Cumulative Impacts Technical Report based on TxDOT nents.	60% s Technical Report based	70% I on TxDOT
- Alr Quality Assessment 60%	60%	70%

THE GOODMAN CORPORATION

26% 26%	%0	85% 85%	5% 5%	75% 76%	75% 75%	30% 30%
3.7 — Cultural Resource Identification	3.7a — Historical Resource Analysis	3.8 – Hazardous Materials	3,9 — Historical Resource identification	3.9A – Indrect Impacts Accessment	3.10 – Cumulative Impacts Assessment	4 – Draft and Fina! EA
Comment: No activity.	Comment: No activity.	Comment: No activity.	Comment: No activity.	Commant: No activity.	Commant: No activity.	Comment: No activity,

The Goodman Corporation 3200 Travis Street, Ste. 200 Houston, TX 77006 .

Invoice



ы

THE GOODMAN CORPORATION *

Sulte 200 Houston,TX 77006 (713) 951.-7951 HOUSTON: 3200 Thavis Street

AUSTINI 911 W. Anderson Lane Suito 200 Austh.TX 78757 (512) 236-8002

PROGRESS REPORT

THEGOODMANCORP.COM

Scott Bean

March 1, 2019 Jim Webb To: From: Date: Re:

Memorial City Redevelopment Authority Continued Implementation Assistance (MCT103) – February 2019

Previous % Complete	Current % Complete
%08	%86
8	nplete %

86% 2 – Memoriai Drive Project Implementation Assistance

%07

Comment: Review and respond to TxDOT coordination requests. Review need for soil and groundwater management plan for project.

.

-

3200 Travis Street, Ste. 200 Houston, TX 77006 The Goodman Corporation

Invoice



THE GOODMAN CORFORATION 送

HOUSTON: 3200 Travis Street Suite 200

PROGRESS REPORT

AUSTINI: 911 W. Anderson Lane Sufte 200 Austin,TX 78757 (S12) 236-8002

Houston,TX 77006 (713) 951-7951

THEOODMANCORP.COM

.

March 1, 2019 Memorial Drive Public Meeting (Beitway 8 to Tallowood) (MCT104) – February 2019 To: Scott Bean From: Stephanie Kirschner Date: March 1, 2019 Re: Memorial Drive Public M

Previous % Current % Complete Complete	20% 85%	omments
Task	4 – Public Meeting per TxDOT Environmental Standards	Comments: Final coordination with school district for public meeting Conducted public meeting with TxDOT staff (2771'9) Cogin drafting meeting documentation report and responses to all public comments

3200 Travis Street, Ste. 200 Houston, TX 77006 The Goodman Corporation

Invoice



•



Наизал.ТХ 77005 Аи THE GOODMAN 7 (713) 951-7951 (31 CORPORATION ТНЕВООВИАИСОЛЕСОН

Stephanle Kirschner

To: From: Date: Re:

Scott Bean

February 2019 March 1, 2019

Task

HOUSTON: 3200 Travis Suret

Suite 200

•

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

AGENDA MEMORANDUM		
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors	
FROM:	Executive Director	
SUBJECT:	Agenda Item Materials	
6.	Conduct the annual review of the Investment Policy and Adopt the Resolution Regarding	

. Conduct the annual review of the Investment Policy and Adopt the Resolution Regarding the Annual Review of the Investment Policy.

CERTIFICATE FOR RESOLUTION

THE STATE OF TEXAS	§
	§
COUNTY OF HARRIS	ş

I, the undersigned officer of the Board of Directors of Memorial City Redevelopment Authority, hereby certify as follows:

1. The Board of Directors of Memorial City Redevelopment Authority convened in regular session on March 26, 2019, outside the boundaries of the Authority, and the roll was called of the members of the Board:

Ann T. Givens	Chairman	Brad Freels	Vice-Chair
Glenn E. Airola	Secretary	John Rickel	Director
Zachary R. Hodges	Director	David P. Durham	Director
Marshall B. Heins	Director		

and all of said persons were present except Director(s) ______, thus constituting a quorum. Whereupon, among other business, the following was transacted at the meeting: a written

RESOLUTION REGARDING ANNUAL REVIEW OF INVESTMENT POLICY

was introduced for the consideration of the Board. It was then duly moved and seconded that the resolution be adopted, and, after due discussion, the motion, carrying with it the adoption of the resolution, prevailed and carried unanimously.

2. A true, full, and correct copy of the aforesaid resolution adopted at the meeting described in the above and foregoing paragraph is attached to and follows this certificate; the action approving the resolution has been duly recorded in the Board's minutes of the meeting; the persons named in the above and foregoing paragraph are the duly chosen, qualified, and acting officers and members of the Board as indicated therein; each of the officers and members of the Board was duly and sufficiently notified officially and personally, in advance, of the time, place, and purpose of the aforesaid meeting, and that the resolution would be introduced and considered for adoption at the meeting, and each of the officers and members consented, in advance, to the holding of the meeting for such purpose; the meeting was open to the public as required by law; and public notice of the time, place, and subject of the meeting was given as required by Chapter 551, Texas Government Code, and Section 49.063, Texas Water Code.

SIGNED AND SEALED on March 26, 2019.

Secretary, Board of Directors

RESOLUTION REGARDING ANNUAL REVIEW OF INVESTMENT POLICY

WHEREAS, Memorial City Redevelopment Authority aka TIRZ 17 Redevelopment Authority (the "Authority") has been legally created and has such authority as granted by state law and as delegated to the Authority by the City of Houston, Texas (the "City"); and

WHEREAS, the Board of Directors has convened on this date at a meeting open to the public and wishes to conduct its annual review of the Investment Policy for the Authority, pursuant to Chapter 2256, Texas Government Code as amended from time to time; Now, Therefore,

BE IT RESOLVED BY THE BOARD OF DIRECTORS OF MEMORIAL CITY REDEVELOPMENT AUTHORITY THAT:

<u>Section 1:</u> The Board of Directors of the Authority has conducted an annual review of the Authority's Investment Policy and confirms that the current Investment Policy dated December 5, 2017, shall remain in effect until modified by action of the Board of Directors.

PASSED AND APPROVED on March 26, 2019.

Chair, Board of Directors

ATTEST:

Secretary, Board of Directors

(SEAL)

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

AGENDA MEMORANDUM		
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors	
FROM:	Executive Director	
SUBJECT:	Agenda Item Materials	
7.	Adopt the Resolution Establishing the Authorized Depository Institutions and Adopting the List of Qualified Broker/Dealers with Whom the Authority May Engage in	

Investment Transactions.

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ No. 17 c/o Hawes Hill & Associates LLP P.O. Box 22167 Houston, TX 77227-2167 713-595-1200 or FAX 281-888-6314

CERTIFICATE FOR RESOLUTION

THE STATE OF TEXAS	§
	§
COUNTY OF HARRIS	§

l, the undersigned officer of the Board of Directors of Memorial City Redevelopment Authority, hereby certify as follows:

1. The Board of Directors of Memorial City Redevelopment Authority convened in regular session on March 26, 2019, outside the boundaries of the Authority, and the roll was called of the members of the Board:

Ann T. Givens	Chairman	Brad Freels	Vice-Chair
Glenn E. Airola	Secretary	John Rickel	Director
Zachary R. Hodges	Director	David P. Durham	Director
Marshall B. Heins	Director		

and all of said persons were present except Director(s) ______, thus constituting a quorum. Whereupon, among other business, the following was transacted at the meeting: a written

RESOLUTION ESTABLISHING THE AUTHORIZED DEPOSITORY INSTITUTIONS AND ADOPTING LIST OF QUALIFIED BROKER/DEALERS WITH WHOM THE AUTHORITY MAY ENGAGE IN INVESTMENT TRANSACTIONS

was introduced for the consideration of the Board. It was then duly moved and seconded that the resolution be adopted, and, after due discussion, the motion, carrying with it the adoption of the resolution, prevailed and carried unanimously.

2. A true, full, and correct copy of the aforesaid resolution adopted at the meeting described in the above and foregoing paragraph is attached to and follows this certificate; the action approving the resolution has been duly recorded in the Board's minutes of the meeting; the persons named in the above and foregoing paragraph are the duly chosen, qualified, and acting officers and members of the Board as indicated therein; each of the officers and members of the Board was duly and sufficiently notified officially and personally, in advance, of the time, place, and purpose of the aforesaid meeting, and that the resolution would be introduced and considered for adoption at the meeting, and each of the officers and members consented, in advance, to the holding of the meeting for such purpose; the meeting was open to the public as required by law; and public notice of the time, place, and subject of the meeting was given as required by Chapter 551, Texas Government Code, and Section 49.063, Texas Water Code.

SIGNED AND SEALED on March 26, 2019.

Secretary, Board of Directors

RESOLUTION ESTABLISHING THE AUTHORIZED DEPOSITORY INSTITUTIONS AND ADOPTING LIST OF QUALIFIED BROKER/DEALERS WITH WHOM THE AUTHORITY MAY ENGAGE IN INVESTMENT TRANSACTIONS

WHEREAS, Memorial City Redevelopment Authority aka TIRZ 17 Redevelopment Authority (the "Authority") has been legally created and has such authority as granted by state law and as delegated to the Authority by the City of Houston, Texas (the "City"); and

WHEREAS, the Board of Directors of the Authority desires to designate one or more banks or savings associations within the state to serve as depository for the funds of the Authority; and

WHEREAS, a depository of the Authority means any depository institution with which the Authority maintains demand or time deposits, including certificates of deposit; and

WHEREAS, the Public Funds Investment Act, Chapter 2256, Government Code, as amended from time to time, requires the Board of Directors of the Authority to, at least annually, review, revise, and adopt a list of qualified broker/dealers with whom the Authority may engage in investment transactions; and

WHEREAS, the Authority's Investment Policy provides that the list of qualified broker/dealers shall be adopted by written resolution of the Board of Directors; and

WHEREAS, the Board of Directors has convened on this date at a meeting open to the public and wishes to (i) establish the authorized depository institutions of the Authority, and (ii) adopt the list of qualified broker/dealers with whom the Authority may engage in investment transactions; Now, Therefore,

BE IT RESOLVED BY THE BOARD OF DIRECTORS OF MEMORIAL CITY REDEVELOPMENT AUTHORITY THAT:

<u>Section 1</u>: The authorized depository institutions for the Authority are included in the attached **Exhibit A**, including the successor entities of any depository institutions listed therein, and are thereby established as the Authority's depositories.

<u>Section 2</u>: The funds of the Authority may be disbursed from such authorized depository institutions.

<u>Section 3</u>: The attached **Exhibit A** contains a list of the qualified broker/dealers with whom the Authority may engage in investment transactions, which list shall be deemed to include the successor entities of any broker/dealers therein.

PASSED AND APPROVED on March 26, 2019.

Chair, Board of Directors

ATTEST:

Secretary, Board of Directors

(SEAL)

Exhibit A 2019 LIST OF AUTHORIZED BROKERS

ABC Bank Allegiance Bank Amegy Bank of Texas, N.A. Austin Capital Bank BB & T BancorpSouth Bank of America N.A. Bank of New York- Mellon Bank of Texas N.A. **BBVA** Compass Bank Business Bank of Texas Cadence Bank Capital Bank of Texas Capital Markets Group Capital One Central Bank Chasewood Bank Citibank N.A. Comerica Bank **Comerica** Securities **Commercial State Bank** Community Bank of Texas Community Trust Bank **Coastal Securities** East West Bank First Bank of Texas First Citizens Bank First Financial Bank, N.A. First National Bank of Texas First Texas Bank Frontier Bank of Texas Frost National Bank Green Bank Herring Bank Hometown Bank, N.A. Iberia Bank Independent Bank International Bank of Commerce Inter National Bank JP Morgan Chase Legacy Texas Bank Lone Star Bank Lone Star Investment Pool Moody National Bank

New First National Bank North Star Bank of Texas Omni Bank N.A. Pioneer Bank Plains Capital Bank Plains State Bank Preferred Bank Prosperity Bank R Bank **Regions Bank** SouthStar Bank Southwest Securities Spirit of Texas Bank State Bank of Texas State Street Bank & Trust Co. Stifel Nicholaus Tex Star Investment Pool Texan Bank Texas Capital Bank N.A. Texas Class Texas Citizens Bank **Texas Exchange Bank Texas First Bank** Texas Gulf Bank **Texas Regional Bank** The Independent Bankers Bank The Mint National Bank **Texas Savings Bank** Texpool/Texpool Prime The Right Bank for Texas Third Coast Bank Trustmark National Bank United Bank of el Paso Del Norte United Texas Bank Unity National Bank U.S. Bank Veritex Bank Wallis State Bank Wells Fargo Bank, N.A. Wells Fargo Brokerage Services, LLC Wells Fargo Trust Westbound Bank West Star Bank Whitney Bank Woodforest National Bank

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

_

	AGENDA MEMORANDUM
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors
FROM:	Executive Director
SUBJECT:	Agenda Item Materials

8. Accept the annual disclosure statements from the Investment Officer and Bookkeeper.

MEMORANDUM

Date:	March 26, 2019
То:	Board of Directors Memorial City Redevelopment Authority (the "Authority")
Сору:	Board of Directors Attorney for the Authority Bookkeeper for the Authority Texas Ethics Commission
From:	Kenneth Byrd, Investment Officer Michelle Lofton, Bookkeeper
Subject:	DISCLOSURE UNDER THE PUBLIC FUNDS INVESTMENT ACT

As investment officer/bookkeeper for the Authority, I submit this disclosure of my relationships with entities or individuals who are offering, have offered, or may offer to engage in an investment transaction with the Authority as of the date of this memorandum, in compliance with the Public Funds Investment Act and with the Authority's Investment Policy.

1. I have the following "personal business relationships" with individuals or entities who are offering to engage, have offered to engage or may offer to engage in an investment transaction with the District:

(a) I own (i) ten per cent (10%) or more of the voting stock or shares or (b) \$5,000 or more of the fair market value of the following business organizations:

	-
N	O

(b) I have received from the following business organizations funds that exceed ten percent (10%) of my gross income for the previous year: A_{1-}

No

(c) During the previous year, I acquired for my personal account investments with a book value of \$2,500 or more from the following business organizations:

2. I am related within the second degree of affinity (marriage) or consanguinity (blood) as determined by Chapter 573, Government Code, to the following individuals who are seeking, have sought or may seek to sell an investment to the District:

anut Fyr

MEMORANDUM

Date:	March 26, 2019
То:	Board of Directors Memorial City Redevelopment Authority (the "Authority")
Сору:	Board of Directors Attorney for the Authority Bookkeeper for the Authority Texas Ethics Commission
From:	Kenneth Byrd, Investment Officer Michelle Lofton, Bookkeeper
Subject:	DISCLOSURE UNDER THE PUBLIC FUNDS INVESTMENT ACT

As investment officer/bookkeeper for the Authority, I submit this disclosure of my relationships with entities or individuals who are offering, have offered, or may offer to engage in an investment transaction with the Authority as of the date of this memorandum, in compliance with the Public Funds Investment Act and with the Authority's Investment Policy.

1. I have the following "personal business relationships" with individuals or entities who are offering to engage, have offered to engage or may offer to engage in an investment transaction with the District:

(a) I own (i) ten per cent (10%) or more of the voting stock or shares or (b) \$5,000 or more of the fair market value of the following business organizations:

NO

(b) I have received from the following business organizations funds that exceed ten percent (10%) of my gross income for the previous year:

(c) During the previous year, I acquired for my personal account investments with a book value of \$2,500 or more from the following business organizations:

2. I am related within the second degree of affinity (marriage) or consanguinity (blood) as determined by Chapter 573, Government Code, to the following individuals who are seeking, have sought or may seek to sell an investment to the District:

michelle top ton

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

AGENDA MEMORANDUM		
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors	
FROM:	Executive Director	
SUBJECT:	Agenda Item Materials	

9. Order Adopting and Restated Procedures for Continuing Disclosure Compliance.

CERTIFICATE FOR ORDER

THE STATE OF TEXAS § §

COUNTY OF HARRIS §

I, the undersigned officer of the Board of Directors of Memorial City Redevelopment Authority, hereby certify as follows:

1. The Board of Directors of Memorial City Redevelopment Authority convened in regular session on March 26, 2019, inside the boundaries of the Zone, and the roll was called of the members of the Board:

Ms. Ann T. Givens	Chair
Mr. Brad Freels	Director
Mr. Glenn E. Airola	Secretary
Mr. David P. Durham	Director
Dr. Zachary "Zach" Hodges	Director
Mr. John Rickle	Director

and all of said persons were present except Director(s) ______, thus constituting a quorum. Whereupon, among other business, the following was transacted at the meeting: a written

ORDER ADOPTING AMENDED AND RESTATED PROCEDURES FOR CONTINUING DISCLOSURE COMPLIANCE

was introduced for the consideration of the Board. It was then duly moved and seconded that the order be adopted, and, after due discussion, the motion, carrying with it the adoption of the order, prevailed and carried unanimously.

2. A true, full, and correct copy of the aforesaid order adopted at the meeting described in the above and foregoing paragraph is attached to and follows this certificate; the action approving the order has been duly recorded in the Board's minutes of the meeting; the persons named in the above and foregoing paragraph are the duly chosen, qualified, and acting officers and members of the Board as indicated therein; each of the officers and members of the Board was duly and sufficiently notified officially and personally, in advance, of the time, place, and purpose of the aforesaid meeting, and that the order would be introduced and considered for adoption at the meeting, and each of the officers and members consented, in advance, to the holding of the meeting for such purpose; the meeting was open to the public as required by law; and public notice of the time, place, and subject of the meeting was given as required by Chapter 551, Texas Government Code, and Section 49.063, Texas Water Code.

SIGNED AND SEALED on March 26, 2019.

Secretary, Board of Directors

(SEAL)

ORDER ADOPTING AMENDED AND RESTATED PROCEDURES FOR CONTINUING DISCLOSURE COMPLIANCE

WHEREAS, Memorial City Redevelopment Authority (the "Authority"), has been legally created and operates pursuant to the general laws of the State of Texas applicable to conservation and reclamation districts; and

WHEREAS, the Authority will issue bonds to finance facilities to serve the land within its boundaries; and

WHEREAS, while its bonds are outstanding, the Authority must comply with certain continuing disclosure requirements (the "Continuing Disclosure Requirements") contained in the Authority's continuing disclosure agreements entered into in connection with the issuance of the Authority's bonds; and

WHEREAS, the Board of Directors of the Authority (the "Board") has previously adopted Procedures for Continuing Disclosure Compliance, which are and shall remain applicable to all outstanding Authority bond issues for which continuing disclosure undertakings were entered into prior to February 27, 2019; and

WHEREAS, the United Stated Securities and Exchange Commission has amended its Rule 15c2-12, adding two new event notices to the Continuing Disclosure Requirements as of February 27, 2019; and

WHEREAS, the Board desires to adopt the amended and restated procedures set forth in Appendix A to this Order to comply with the Continuing Disclosure Requirements on and after February 27, 2019; NOW, THEREFORE,

BE IT ORDERED BY THE BOARD OF DIRECTORS OF MEMORIAL CITY REDEVELOPMENT AUTHORITY THAT:

<u>Section 1.</u> <u>Approval and Implementation of the Procedures</u>. The Board hereby approves and adopts the amended and restated procedures set forth in Appendix A to this Order (the "Amended and Restated Procedures") as the Authority's official continuing disclosure procedures for outstanding bonds. The Board further directs that the Amended and Restated Procedures shall be implemented for all Authority bond issues for which continuing disclosure undertakings are entered into on and after February 27, 2019.

<u>Section 2</u>. <u>Declaration of Policy, Purpose, and Intent</u>. The Amended and Restated Procedures set forth the manner in which the Authority will comply with the Continuing Disclosure Requirements. <u>Section 3</u>. <u>Term</u>. The Procedures shall remain in effect until modified by action of the Board.

PASSED AND APPROVED on March 26, 2019.

MEMORIAL CITY REDEVELOPMENT AUTHORITY

President, Board of Directors

ATTEST:

Secretary, Board of Directors

(SEAL)

APPENDIX A MEMORIAL CITY REDEVELOPMENT AUTHORITY AMENDED AND RESTATED PROCEDURES FOR CONTINUING DISCLOSURE COMPLIANCE

I. GENERAL

The purpose of these Amended and Restated Procedures for Continuing Disclosure Compliance (these "Amended and Restated Procedures") is to ensure that Memorial City Redevelopment Authority (the "Authority") remains in compliance with its continuing disclosure agreements entered into in connection with Securities and Exchange Commission ("SEC") Rule 15c2-12 (collectively, the "Agreement"). These Amended and Restated Procedures apply to any Authority obligations to which a continuing disclosure agreement entered into in connection with SEC Rule 15c2-12 on and after February 27, 2019 applies.

II. **RESPONSIBLE PARTIES**

The Board of Directors of the Authority is ultimately responsible for the Authority's continuing disclosure compliance. The Board of Directors will be assisted in its continuing disclosure compliance efforts by the following consultants:

- General Counsel
- Financial Advisor
- Bookkeeper
- Engineer
- Operator
- Auditor
- Tax Assessor/Collector

The Board of Directors will direct the aforementioned consultants to coordinate their efforts to ensure that the Authority complies with its continuing disclosure obligations.

III. GENERAL RECORDKEEPING & RECORD RETENTION

General record retention duties are the responsibility of the Authority's General Counsel, in its capacity as the Authority's duly-appointed records manager (the "Records Manager"). As applicable, the Financial Advisor, Bookkeeper, Engineer, Operator, Auditor, and/or Tax Assessor/Collector will provide the documentation described below to the Records Manager for retention.

Subject to the Records Manager's receipt thereof, the Records Manager will maintain a copy of the following documents on file:

- Audited Financial Statements
- Any additional annual financial information and/or operating data required to be updated pursuant to the Agreement

With respect to each issue of the Authority's bonds covered by the Agreement, and in addition to the records retention requirements of the Authority's Procedures for Post-issuance Compliance related to federal tax requirements, the Records Manager will retain the following for the life of the bonds plus five years:

- Bond transcript, including authorizing and offering documents
- Minutes and resolution(s) authorizing the issue
- Records relating to the payment of debt service (including credit enhancement)
- Records relating to principal and interest payment delinquencies
- Records relating to non-payment related defaults, if material
- Records relating to unscheduled draws on debt service reserves reflecting financial difficulties
- Records relating to unscheduled draws on credit enhancements reflecting financial difficulties
- Records relating to substitution of credit or liquidity providers, or their failure to perform
- Records relating to adverse tax opinions, the issuance by the Internal Revenue Service ("IRS") of proposed or final determinations of taxability, Notices of Proposed Issue (IRS Form 5701-TEB) or other material notices or determinations with respect to the tax-exempt status of the bonds, or other material events affecting the tax-exempt status of the bonds
- Records relating to modifications to the rights of holders of the bonds, if material
- Records relating to bond calls, if material, and tender offers
- Records relating to defeasances
- Records relating to release, substitution, or sale of property securing repayment of the bonds, if material
- Records relating to rating changes
- Records relating to bankruptcy, insolvency, receivership or similar event of the Authority or other obligated person within the meaning of SEC Rule 15c2-12
- Records relating to the consummation of a merger, consolidation, or acquisition involving the Authority or other obligated person within the meaning of SEC Rule 15c2-12 or the sale of all or substantially all of the assets of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, other than in the ordinary course of business, the entry into a definitive agreement to undertake

such an action or the termination of a definitive agreement relating to any such actions, other than pursuant to its terms, if material

- Records relating to appointment of a successor or additional trustee or the change of name of a trustee, if material
- Records relating to the incurrence of a financial obligation of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, if material, or agreement to covenants, events of default, remedies, priority rights, or other similar terms of a financial obligation of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, any of which affect holders of the bonds, if material
- Records relating to default, event of acceleration, termination event, modification of terms, or other similar events under the terms of a financial obligation of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, any of which reflect financial difficulties
- Records relating to any other event(s) of which the Authority is required to provide notice pursuant to its Agreement

Documents may be retained as hard copies or in an electronic format, so long as such documents are retained in organized, accessible format that preserves the accuracy of such documents.

IV. ANNUAL FINANCIAL INFORMATION

If the annual financial information and operating data, as such information is defined or described in the Agreement, is timely provided to General Counsel for purposes of compliance with the Agreement, General Counsel will be responsible for timely filing same with the Municipal Securities Rulemaking Board (the "MSRB"). The Authority must file its annual financial information and operating data in the electronic format prescribed by the MSRB within six (6) months following the close of the Authority's fiscal year. If the Authority's audited financial statements are not complete within such period, then the Authority must file its unaudited financial statements for the applicable fiscal year with the MSRB within such six-month period, and its audited financial statements when and if available.

The Financial Advisor, Bookkeeper, Engineer, Operator, Auditor, and Tax Assessor/Collector will assist General Counsel, as needed, in compiling the Authority's annual financial information and operating data, and they will timely provide same to General Counsel.

The Authority must provide to the MSRB, in a timely manner, notice of any failure of the Authority to provide the required annual financial information and operating data described in this Section IV to the MSRB within the above-described sixmonth period.

V. EVENT NOTICES

If notices of the events listed in this Article V are timely provided to General Counsel, General Counsel will be responsible for timely filing same with the MSRB in the electronic format prescribed by the MSRB. The Financial Advisor, Bookkeeper, Tax Assessor/Collector, and/or Auditor, as applicable, will coordinate with General Counsel by providing the information necessary to complete the event notices described in this Section V to General Counsel within 3 business days of their receipt of such information.

The Authority must provide to the MSRB, in a timely manner not in excess of ten (10) business days after the occurrence of the event, notice of any of the following events with respect to an issue of the Authority's bonds covered by the Agreement:

- Principal and interest payment delinguencies
- Non-payment related defaults, if material
- Unscheduled draws on debt service reserves reflecting financial difficulties
- Unscheduled draws on credit enhancements reflecting financial difficulties
- Substitution of credit or liquidity providers, or their failure to perform
- Adverse tax opinions, the issuance by the IRS of proposed or final determinations of taxability, Notices of Proposed Issue (IRS Form 5701-TEB) or other material notices or determinations with respect to the tax-exempt status of the bonds, or other material events affecting the tax-exempt status of the bonds
- Modifications to rights of holders of the bonds, if material
- Bond calls, if material, and tender offers
- Defeasances
- Release, substitution, or sale of property securing repayment of the bonds, if material
- Rating changes
- Bankruptcy, insolvency, receivership or similar event of the Authority or other obligated person within the meaning of SEC Rule 15c2-12
- The consummation of a merger, consolidation, or acquisition involving the Authority or other obligated person within the meaning of SEC Rule 15c2-12 or the sale of all or substantially all of the assets of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, other than in the ordinary course of business, the entry into a definitive agreement to undertake such an action or the termination of a definitive agreement relating to any such actions, other than pursuant to its terms, if material
- Appointment of a successor or additional trustee or the change of name of a trustee, if material

- Incurrence of a financial obligation of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, if material, or agreement to covenants, events of default, remedies, priority rights, or other similar terms of a financial obligation of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, any of which affect holders of the bonds, if material
- Default, event of acceleration, termination event, modification of terms, or other similar events under the terms of a financial obligation of the Authority or other obligated person within the meaning of SEC Rule 15c2-12, any of which reflect financial difficulties

VI. REVIEW OF PROCEDURES AND EDUCATION

At least annually, the Board of Directors will review these Procedures and will make any changes necessary or appropriate to ensure the Authority's ongoing compliance with its continuing disclosure agreements and federal securities laws. In addition, as it deems necessary or appropriate from time to time, the Board of Directors may implement training programs for the Authority and its consultants to ensure ongoing compliance with the Authority's continuing disclosure agreements, federal securities laws, and these Procedures.

MEMORIAL CITY REDEVELOPMENT AUTHORITY TIRZ NO. 17, TAX REINVESTMENT ZONE NO. 17 HOUSTON, TEXAS

	AGENDA MEMORANDUM
TO:	Memorial City Redevelopment Authority TIRZ No. 17 Board of Directors
FROM:	Executive Director
SUBJECT:	Agenda Item Materials
10.	CIP Committee.
	a. Project update from Gauge Engineering LLC
	i Consider Day Application No. 2 from Porter Construction D.

i. Consider Pay Application No. 3 from Reytec Construction, Briar Branch Channel and Straws Improvements, in the amount of \$529,283.44

b. Project update from LAN

c. Project update from the Goodman Corporation

d. Project update from SWA

i. Consider Work Order No.16 (amended), for professional design services and additional construction phase services, in the amount of \$24,320.00



PROGRESS REPORT—MARCH 2019

Briar Branch (W140-01-00) Channel & Straws Improvements

WBS No. N-T17000-0018-3, T-1734 & T-1734B

PROJECT LOCATION

The channel improvement project is approximately 6,200 feet long, from Gessner Road east to Oak Tree Drive, approximately 1,750 feet east of Bunker Hill Road. This project is located in City Council District A.



PROJECT STATUS

- Provided door hangers to impacted residents for next project phase
- Clearing & Grubbing in progress for section between Bunker Hill and Witte
- RCB installation continues between Witte Rd and Gessner Rd
- Large 3 throws of boxes between W140 Detention Basin and Bunker Hill has commenced
- Temporary Shoring Installation in progress
- Groundbreaking Ceremony event was successfully conducted

CURRENT TRAFFIC CONTROL CONFIGURATION

All streets are open

PROJECT OBJECTIVE

Improve drainage by increasing conveyance and storage

The Briar Branch (W140-01-00) Channel and Straws Improvements project involves the construction of storm drainage improvements that are designed to lower water levels on Briar Branch, provide flood mitigation storage, and deliver flooding relief and protection to the surrounding community.

PROJECT DESCRIPTION

- The channel improvement project is approximately 6,200 feet long, from Gessner Road east to Oak Tree Drive, approximately 1,750 feet east of Bunker Hill Road. The proposed channel improvements will include constructing box culverts ranging in size from 7-FT x 7-FT to 10-FT x 8-FT RCBs along the length of the system, effectively enclosing the channel.
- The Straw improvements consist of approximately 2,600 linear feet of perpendicular improvements at five separate lateral locations along Briar Branch, from Gessner Road east to Confederate Lane, approximately 1,000 feet east of Bunker Hill Road.
- Included in the channel improvements is the reconstruction of the Bunker Hill Road crossing at Briar Branch from dual 7-FT x 7-FT RCBs to triple 8'x8' RCBs.

Cont. PROGRESS REPORT—JANUARY 2019

Briar Branch (W140-01-00) Channel & Straws Improvements

WBS No. N-T17000-0018-3, T-1734 & T-1734B

CONSTRUCTION TIME

- Contract time:
- Notice to Proceed date:

24 Months December 17, 2018

CONTACT INFORMATION

Construction Manager (CM) Gauge Engineering 3200 Wilcrest Drive, Suite 220 Houston, TX 77042

Contractor Reytec Construction Resources 1901 Hollister St. Houston, TX 77080

PROGRESS PHOTOS

PAYMENT ESTIMATES

Original Contract Amount	\$18,794,957.00
Onginal Contract Aniount	φ10,794,907.00
Change Order Amount to Date	\$0.00
Current Contract Amount	\$18,794,957.00
Previous Payments	\$485,417.70
Current Payment Due	\$529,283.44
Contract Completion Date	11/30/2020



8' x 4' RCB Installation - PH III



Prep work for 9' x 8' RCB Installation-PH I



Ground Breaking Ceremony - 3-20-2019



Ground Breaking Ceremony - Delegates

PROGRESS REPORT

MARCH 2019

MEMORIAL CITY REDEVELOPMENT AUTHORITY/TIRZ 17

GESSNER ROAD MOBILITY & DRAINAGE IMPROVEMENTS PS&E (T-1732A & T-1732B):

Activities This Period:

- · Advanced roadway, drainage, traffic signal and water design to the 95% level
- Submitted 95% plans, specs and cost estimate
- Conducted progress meeting with TxDOT
- Met with ATT, CenterPoint Gas, Electric, Lighting and Comcast to address utility conflicts
- Filled out all TxDOT check lists and forms
- Added unit items to TxDOT's DCIS system
- · Worked with TxDOT to develop special specifications for the non-standard items
- · Continue to advance plans, specs and estimates to 100% level

Activities Planned for Next Period:

- Address any TxDOT or City comments and finalize plans
- · Resolve conflicts with private utility companies
- Finalize special specs

Items Affecting Schedule:

• N/A

PRELIMINARY ENGINEERING SERVICES FOR DETENTION BASIN A (T-1735B):

Activities This Period:

- · Identified optional outfall location based on collected topographic survey
- Developed 2 basin configuration options yielding 80 ac-ft and 100 ac-ft of storage.
- Furthered coordination with stakeholders to define future needs for site
- Initiated detailed hydraulics analysis of each basin configuration
- Furthered structural analysis

Activities Planned for Next Period:

- Develop cost estimates
- Begin impact analysis

Items Affecting Schedule:

• N/A

HCFCD PARTNERSHIP FEASIBILITY:

Activities This Period:

- Developed 3 basin configurations based on 3 different potential outfalls
- Identified additional Gessner infrastructure needed to accommodate future basin
- Analyzed and developed preliminary benefit cost estimates



PROGRESS REPORT MARCH 2019

MEMORIAL CITY REDEVELOPMENT AUTHORITY/TIRZ 17



Activities Planned for Next Period (post contract execution):

- Complete modeling
- Schedule and conduct meeting with HCFCD

Items Affecting Schedule:

• N/A



March 7, 2019

Scott Bean Memorial City Redevelopment Authority/TIRZ 17 9610 Long Point, Suite 150 Houston, Texas 77055

Reference: Briar Branch (W140-01-00) Channel and Straws Improvements Reconstruction and Drainage Improvements Gauge Project No.: 1005 WBS No. N-T17000-0018-3 (T-1734 & T-1734B) Reytec Construction Resources, Inc. Payment No. 03

Dear Mr. Bean:

Reytec Construction Resources, Inc. (Reytec) has submitted estimate No. 03 in the amount of \$529,283.44 for construction services rendered through February 28, 2019. Based on our review, Reytec has complied with all requirements stated in the estimate and we recommend payment of **\$529,283.44** to Reytec.

The following billing information is to be used for payment:

Reytec Construction Resources, Inc. 1901 Hollister St. Houston, TX 77080

If you have any questions or require additional information, please feel free to contact me at (832) 318-8800.

Sincerely,

Muhammad Ali, P.E. Project Manager

Enclosures: Reytec Pay Est. No. 03

t off Date 02/28/19 imate Date 03/04/19			Redevelopment A ertificate for Payme		rk		uge
Contractor Name : R	eytec Construction	0-01-00) Channel on Resources, Inc. ouston, Texas 77		its Reconstruction ar		. N-T17000-0018-3	(T-1734 & T-1734B)
	:	1/31/2018 2/17/2018 1/30/2020 In Place : Drug Policy Due I		Current M/SBE : 0	CONTRAC Original Approve Total Co Days Us Days Re	T TIME IN CALEND Contract Time d Extensions ntract Time ad to Date maining to Date	
NTRACT AMOUNT TO DATE : 1- Original Contract Amount 2- Approved Change Orders							\$18,794,957.00
2 Approved change orders	No.	Date	Ext.Days	A	mount		
		proved Extentions	0		Total Char	ge Orders to Date	\$0.00
3- Approved Work Change Direct	tives No.	Date	Ext.Days	A	nount		
				_			
		-					
		Total F	Pending Work Change Di	rectives to Date	\$0.00		
A. EARNINGS TO DATE		Total 1	chang Hork change bi		CONTRACT AMOUNT	(excludes WCDs)	\$18,794,957.00
1- Work Completed to Date 2- Material Stored on Site			Complete \$0.00	1	\$1,068,106.46		
3- Material Stored in Place 4- Balance-Materials Accepted N 5- Work Change Directives - In F		3	\$0.00	85% -	\$0.00 \$0.00		
B. DEDUCTIONS					TOT	AL EARNINGS TO D	DATE \$1,068,106.46
1- Retainage 5% 2- Retainage Release 0%		\$1,068,106.46 \$1,068,106.46	<u>\$53,405.3</u> <u>\$0.0</u>				
3- Total Retainage 4- Liquidated Damages 5- Assessments 6- Inspector Overtime Costs	0.0)0 Days @ \$	5,000.00	-	\$53,405.32 \$0.00 \$0.00 \$0.00		
. AMOUNT DUE THIS PERIOD				-		TOTAL DEDUCTI	ONS\$53,405.32
 Total Earnings to Date Total Deductions Total Payments Due Less Previous Payments Restoration Adjustment 				1	\$1,068,106.46 \$53,405.32		\$1,014,701.14 \$485,417.70 \$0.00
				TOTA	L AMOUNT DUE CONT	RACTOR THIS DAT	TE \$529,283.44
						ALANCE REMAININ	2016 1909990800-002097909-9640800
	you Jay Mo	4	40		A	4	>
Prepared By Karam Qaddo, F		3/7/20 Date		Reviewed By	Auhammad Ali, P.E.	X	3/7/2019 Date

Reytec Construction Resources, Inc.

1901 Hollister Houston, Texas 77080 Office 713.957.4003 Fax 713.681.0077

Briar Branch Channel & Straws Improvements Project Pay Application

March 4, 2019

Mr. Muhammad Ali Gauge Engineering 3200 Wilcrest Drive, Suite 220 Houston, TX 77042

Re Memorial City Redevelopment Authority Briar Branch (W140-01-00) Channel and Straws Improvements Project WBS No. N-T17000-0018-3

Dear Muhammad,

Please see attached for pay application 003 for February 2019, Briar Branch (W140-01-00) Channel and Straws Improvements.

Thanks,

Koegan Droxler Project Manager Reytec Construction Resources 832-844-8322 <u>kdroxler@reytec.nct</u>

APPLICATION AND CERTIFICATE FOR PAYMENT

AIA DOCUMENT G702

TO (OWNER): Memorial	City Redev	elopment Authority	PROJECT: Briar Branch (W140-01-00)	APPLICATION NO: Channel and Straws Improvements PERIOD TO:	2/1/2019	
1901 Holli Houston,	onstruction ster Rd. Texas 7708			PROJECT NO: W	2/28/2019 VBS No. N-T17000-0018-3 P No. T-1734 & T-1734B	
CONTRACTO	R'S API	PLICATION FO	R	Application is made for Payment, as shown below, in connection v Continuation Sheet, AIA Document G703, is attached.	with the Contract.	
CHANGE ORDER SUM	MARY			1. ORIGINAL CONTRACT SUM	6	18,794,957,00
Change Orders approv		ADDITIONS	DEDUCTIONS	2. Net change by Change Order.		0.00
previous months by ow	planterplante pa	rissinone	DEDUCTION	3. CONTRACT SUM TO DATE (Line 1+2)	······································	18,794,957.00
	TOTAL		1 1	4. TOTAL COMPLETED & STORED TO DATE	s -	1,068,106.46
Approved this Month						
Number	Date		1 1	5. RETAINAGE:		
				a. <u>5</u> % of Completed Work <u>5</u> b. % of Stored Material	53,405.32	
				Total Retainage (Line 5a + 5b or		
	TOTALS	s -			\$	53,405.32
Net change by Change (Orders	and a second second		6. TOTAL EARNED LESS RETAINAGE	\$	1,014,701.14
knowledge, information a	and belief the	hat to the best of the Cor Work covered by this Ap	plication for	(Line 4 less Line 5 Total) 7. LESS PREVIOUS CERTIFICATES FOR	~	
		rdance with the Contract Intractor for Work for which		PAYMENT (Line 6 from prior Certificate) 8. CURRENT PAYMENT DUE	<u>s</u> _	485,417.70
		and payments received fr		9. BALANCE TO FINISH, PLUS RETAINAGE	\$ -	529,283.44
and that current Paymen				(Line 3 less Line 6)	· · · · · · · · · · · · · · · · · · ·	17,780,255.86
				State of: Texas	and the second	······
INSPECTOR:				Subscribed and swom to before methis GLT day of MIL	TIM VID	
By:		Date:		Notary Public:	W Long	
				My Commission expires	EUNICE MORALES	
CONTRACTOR:					tary Public, State of Texas	
By:	51	Date:	03/05/2019		mm. Expires 07-27-2022	
	Y				Notary ID 131660479	
AKCHITEOT'S	CERTI	FICATE FOR P	PAYMENT	AMOUNT CERTIFIED (Attach explanation if amount certified differs from the amount app	- (529,283.44
the data comprising the a	above applica	ments, based on on-site ation, the Architect certifie dedge, information and be	s to the Owner	ARCHITECT:	lied for)	
progressed as indicated,	the quality o	f the Work is in accordance	ce with the	Ву:	Date:	
Contract Documents, and	d the Contra	ctor is entitled to payment	t of the AMOUNT	This Certificate is not negotiable. The AMOUNT CERTIFIED is pa		2
CERTIFIED.				Contractor named herein. Issuance, payment and acceptance of p		
				prejudice to any rights of the Owner or Contractor under this Contr	act.	

G702-1983

Memorial City Redevelopment Authority/TIRZ 17

Affidavits of Payment and Unconditional Waivers of Liens

Reytec Construction Resources, Inc has been paid and has received a progress payment in the sum of \$332,500.00 for services, equipment or material furnished to Memorial City Development Authority/TIRZ 17 for the Briar Branch Channel & Straws Improvements Project (WBS No. N-T17000-0018-3 located in Houston, Texas, and does hereby release any mechanic's lien or bond right that undersigned has on the aove referenced project to the following extent This release covers a progress payment for labor, services, equipment or material furnished to the Memorial City Redevelopment Authority/TIRZ 17 through February 28, 2019 only, and does not cover any retention if any labor, services, equipment or materials furnished after that date. The undersigned warrants that all undisputed amounts due to its equipment lessors, suppliers, subcontractors, labor, insurance and taxes applicable to this work have been paid in full through the date set forth and hold the Memorial City Redevelopment Authority/TIRZ 17 against any loss arising from the nonpayment thereof. .

(Signature of Confactor's Representative)

SWORN TO AND SUBSCRIBED before me on:



My Commission Expires:

Expiration Date

Keegan Droxler (Print or Type Name of Contractor's Representative)

3/01/2019

Notary Public in and for the State of Texas

Type Name of Notary Public

CITY OF HOUSTON STANDARD DOCUMENT

MONTHLY SUBCONTRACTOR PAYMENT REPORTING FORM

Document 00642

MONTHLY SUBCONTRACTOR PAYMENT REPORTING FORM

Legal Project Name: Briar Branch Channel & Straws Improvements

Outline Agreement No.:

WBS No.: <u>N-T17000-0018-3</u>

Contractor's Company Name: Reytec Construction Resources

Address: 1901 Hollister St. Houston, Texas 77080

CERTIFICATION

Keegan Droxler ______, Contractor's Representative for the above referenced Contract, hereby certifies that (1) Contractor has paid all subcontractors, except those noted below, (2) Contractor made such payments (a) in proportion to the amount City paid Contractor and (b) in accordance and compliance with all applicable Contract Documents and laws; and (3) Contractor withheld no sums from any subcontractor for allegations of deficiency in Work. The term "subcontractor", as used herein, includes all persons or firms furnishing work, materials, services or equipment Contractor ordered incorporated into Work or placed near the Project for which the City made partial payment.

EXCEPTION: Contractor sent Payment Notifications to the following subcontractors explaining why Contractor withheld payment. Copies are attached.

Subcontractor Name:	Subcontractor Name:
Street Address:	Street Address:
City, State, and Zip Code:	City, State, and Zip Code:
Amount of Payment Withheld:	Amount of Payment Withheld:
Date Payment First Withheld:	Date Payment First Withheld:
Description of Good Faith Reason:	Description of Good Faith Reason:
(Signature of Contractor & Representative) SWORN TO AND SUBSCRIBED before me on: EUNICE MORALES Notary Public, State of Texas Comm. Expires 07-27-2022	Keegan Droxler (Print or Type Name of Contractor's Representative) 03/01/2019 Date Motary Public in and for the State of Texas
My Commission Expires:	Fint of Type Name of Notary Public
0064 02-01-2	

			Reytec Project N			
			Deviated Pla	an		
		Project Name:	2203: Briar	Branch (W140-0	1-00)Channel	& Straws Improvement
	c	ontract Amount.:	\$18,794,95			
		Work Progress:	0% comple	te		
	Pay E	stimate Number:	3			
		Pay Period:	02/01/201	9 to 02/28/2019		
			Overall Goal	<u>i:</u>		
	Contract	ed:	18.00% \$	3,383,092.26		
	Current:		0.22% \$	22,555.00		
			-17.78% \$	(3,342,485.26)		
			MWSBE Goa	<u>i:</u>		
	MBE Goal:				WBE Goal:	
Contracted:	10.00% \$	1,879,495.70	Contracted:	:	8.00% \$	1,503,596.56
Current:	0.22% \$	22,555.00	Current:	-	0.00% \$	
	-9.78% \$	(1,838,888.70)		-	-8.00% \$	(1,503,596.56)
			Individual Goa	al:		
N	loran Construction	(MBE)		Ac	cess Data (WB	E)
Contracted:	6.11% \$	1,148,371.87	Contracted:		8.00% \$	1,503,596.56
Current:	0.00% \$		Current:		0.00% \$	
	-6.11% \$	(1,148,371.87)		-	-8.00% \$	(1,503,596.56)
	-			=		
	Ecung (MBE)			Rosa	les Trucking (N	/IBE)
Contracted:	0.36% \$	67,661.85	Contracted:		2.50% \$	469,873.93
Current:	0.08% \$	5,650.00	Current:		0.14% \$	25,382.00
	-0.28% \$	(52,436.85)			-2.36% \$	(444,491.93)
	1.172				er	
	Fabco (MBE)					
	1 000/ 4	187,949.57				
Contracted:	1.00% \$	20170 10101				
Contracted: Current:	0.00% \$					

F

Owner: Memorial City Redevelopment Authority 9610 Long Point Road, Ste 150 Houston, Texas 77055

Fett

Contractor: Reytec Construction Resources, Inc 1901 Hollister St. Houston, Texas 77080

Todays Date: Pay Period: Pay Estimate No. Rain Days This Month 3/3/2019 Feb 1st - Feb 28th 003 004

ltem	Item Description	UOM	Quantity	Unit Price	Contract Amount	Quantities	This Month Quantities	To Date Quantities	This Month Billing	Total A	mount Billed	% Complete
	General Items									-		
1.0	Mobilization	LS	1	\$600,000.00	\$500.000.00	0.50		0.50	5	- 5	300.000.00	50%
2.0	Portable Changeable Message Sign	Day	176	\$90.00	\$15,840.00	0.00		0.00			000,000.00	0%
3.0	Removable and Salvage Existing Sign	EA	11	\$50.00	\$550.00	0.00		0.00		s		0%
3.1	Project ID Sign	EA	1	\$650.00	\$650.00	1.00		1.00		- 5	650.00	100%
3.2	Placement of Permanent Signs	EA	25	\$310.00	\$7,750.00	0.00		0.00				0%
3.3	Remove Existing Pavement Markings	EA	4	\$150.00	\$600.00	0.00		0.00	S 101			0%
4.0	Traffic Control and Regulation	EA	4	\$17,500.00	\$70,000.00	0.00		0.00	S	5		0%
5.0	Install PreCast Concrete Traffic Barrier	LF	500	\$32.00	\$16,000,00	0.00		0.00				0%
6.0	Relocate PreCast Concrete Traffic Barrier	LF	3000	\$8.00	\$24,000.00	0.00		0.00		. 5		0%
7.0	Remove PreCast Concrete Traffic Barrier	LF	500	\$12.00	\$6,000.00	0.00		0.00				0%
7.1	Remove and Replace Speed Cushions	LS	2	\$4,500.00	\$9,000.00	0.00		0.00		5		0%
8.0	Flagmen	EA	4	\$12,500.00	\$50,000.00	0.00		0.00		5		0%
9.0	Tree and Plant Protection	EA	4	\$20,000.00	\$80,000.00	2.00		2.00	S	5	40.000.00	50%
10.0	Inlet Protection Barrier (State I & II)	EA	92	\$60.00	\$5,520.00	0.00	2.00	2.00		s	120.00	2%
11.0	Reinforced Filter Fabric Barrier	LF	12000	\$1.50	\$18,000.00	184.00	2131.00	2315.00			3,472.60	19%
12.0	Stabilized Construction Exit	SY	144	\$40.00	\$5,760.00	123.00		123.00		5	4.920.00	85%
13.0	Rock Filter Dame-Type 3	UF	35	\$55.00	\$1,925.00	0.00	8.0000000	8.00		s	440.00	23%
14.0	Groundwater Control for Open-Cut Construction	UF	8727	\$1.00	\$8,727.00	0.00		0.00		s		0%
15.0	Site Restoration	LF	10715	\$6.00	\$64,290.00	0.00		0.00	\$.	5		0%
16.0	Adjust existing manhole frame and cover to new grade	EA	11	\$1,400.00	\$15,400.00	0.00		0.00		5		0%
17,0	Adjust existing valve box to new grade	EA	9	\$470.00	\$4,230.00	0.00		0.00		s		0%
18.0	Clearing and Grubbing	AC	8	\$15,000.00	\$119,100.00	3.00	1.00	4.00	\$ 15,000.00	S	60.000.00	50%
19.0	Trench Safety System for Trench Excavations	LF	20183	\$6.00	\$121,098.00	0.00	930.00	930.00			5,580.00	5%
20.0	Hydro Mulch Seeding	AC	4	\$1,500.00	\$5,985.00	0.00		0.00		S		0%
21.0	Sodding	SY	7890	\$5.00	\$39,450.00	0.00		0.00	5	S		0%
-					\$1,289,875.00		Subtotal General Items	In Contract Con	\$ 24,336.50	S	415,182.50	32%
	Storm Items											
22.0	Remove and Disose Manholes all sizez/depth	EA	3	\$1,000.00	\$3,000.00	- C		0.00	\$.	S		0%
23.0	Remove and Dispose Inlets all sizes/depth	EA	30	\$250.00	\$7,500.00			0.00	\$.	5		0%
24.0	Remove and Dispose Storm Pipe 12-inch diameter	LF	35	\$3.00	\$105.00			0.00		5		0%
25.0	Remove and Dispose Storm Pipe 15-inch diameter	LF	82	\$4.00	\$328.00	- 25 (SQL)		0.00		s		0%
26.0	Remove and Dispose Storm Pipe 18-Inch diameter	LF	133	\$6.00	\$798.00			0.00		5		0%
27.0	Remove and Dispose Storm Pipe 24-Inch diameter	LF	301	\$36.00	\$10,836.00			0.00		5		0%
28.0	Remove and Dispose Storm Pipe 30-inch diameter	LF	61	\$40.00	\$2,440.00	0.00		0.00		5		0%
29.0	Remove and Dispose Storm Pipe 36-inch diameter	UF	119	\$45.00	\$5,355.00		10.00	10.00			450.00	8%

Project: Briar Branch (W140-01-00) Channel & Straw Improvements WBS No. N-T17000-0018-3 TIRZ 17 CIP No. T-1734 & T-1734B

Project: Briar Branch (W140-01-00) Channel & Straw Improvements WBS No. N-T17000-0018-3 TIRZ 17 CIP No. T-1734 & T-1734B

Contractor:	Todays Date:	3/3/2019
Reytec Construction Resources, Inc	Pay Period:	Feb 1st - Feb 28th
1901 Hollister St.	Pay Estimate No.	003
Houston, Texas 77080	Rain Days This Month	004

Item	Item Description	UOM	Est.Unit Quantity	Unit Price	Contract Amount	Previous Quantities	This Month Quantities	To Date Quantities	This Month Billing	Total Amount Billed	% Complete
30.0	Remove and Dispose Storm Pipe 48-inch diameter	LF	71	\$70.00	\$4,970.00			0.00	s .	s .	0%
31.0	Remove and Dispose Storm Pipe 72-inch diameter	LF	233	\$40.00	\$9,320.00			0.00	\$.	s .	0%
32.0	Remove and Dispose Storm Pipe 84-inch diameter	LF	36	\$60.00	\$2,160.00			0.00	\$.	\$ -	0%
33.0	Plug & Abandon 18-inch Storm Sewer	LF	38	\$25.00	\$950.00			0.00	\$.	s -	0%
34.0	Plug & Abandon 24-Inch Storm Sewer	LF	9	\$35.00	\$315.00			0.00	\$.	s .	0%
35.0	Plug & Abandon 36-inch Storm Sewer	LF	177	\$38.00	\$6,726.00			0.00	\$.	s -	0%
36.0	Clean and CCTV Existing Storm Sewer	LF	830	\$11.00	\$9,130.00		· · · · · · · · · · · · · · · · · · ·	0.00	\$.	s -	0%
37.0	Type C manhole for 42-inch diameter and smaller sewers w/rin	EA	25	\$5,200.00	\$130,000.00			0.00	s .	s .	0%
38.0	Type C manhole for 48-inch to 72-inch diameter sewers w/rim	EA	4	\$8,000.00	\$32,000.00			0.00	\$.	s -	0%
39.0	Manhole Riser for Box Sewer w/rim	EA	23	\$2,200.00	\$50,600.00			0.00	s -	\$.	0%
40.0	Manhole Riser for Box Sewer w/grate	EA	39	\$1,400.00	\$54,600.00			0.00	ş .	s .	0%
41.0	Manhole Risers for Concrete Box Sewers with 50.5 Inch cover	EA	9	\$3,900.00	\$35,100.00			0.00	\$.	\$.	0%
42.0	Extra Depth Manhole	VF	56	\$100.00	\$5,600.00			0.00	\$.	ş .	0%
42.1	Yard Drains and all work associated with modifying, restoring,	LF	2000	\$14.00	\$28,000.00			0.00	\$ -	s .	0%
43.0	24-inch Diameter RCP Storm Sewer by open cut	LF	408	\$205.00	\$83,640.00			0.00	s .	\$.	0%
44.0	30-inch Diameter RCP Storm Sewer by open cut	LF	25	\$560.00	\$14,000.00			0.00	s -	s -	0%
45.0	36-inch Diameter RCP Storm Sewer by open cut	LF	230	\$242.00	\$55,660.00		6.00	6.00	\$ 1,452.00	\$ 1,452.00	3%
46.0	42-inch Diameter RCP Storm Sewer by open cut	LF	28	\$540.00	\$17,920.00			0.00	5 -	\$ -	0%
47.0	48-inch Diameter RCP Storm Sewer by open cut	LF	25	\$900.00	\$22,500.00			0.00	s .	5 .	0%
48.0	72-inch Diameter RCP Storm Sewer by open cut	LF	15	\$680.00	\$10,200.00			0.00	5	\$ -	0%
49.0	7'X5' RCB Storm Sewer by open cut	LF	25	\$900.00	\$22,500.00			0.00	s .	s .	0%
50.0	7'X7' RCB Storm Sewer by open cut	LF	2342	\$535.00	\$1,252,970.00			0.00	5 -	\$.	0%
51.0	8'X4' RCB Storm Sewer by open cut	LF	3029	\$455.00	\$1,378,195.00		362.00	362.00	\$ 164,710.00	\$ 164,710.00	12%
52.0	8'X8' RCB Storm Sewer by open cut	LF	8387	\$607.00	\$5,090,909.00			0.00		\$.	0%
53.0	9'X4' RCB Storm Sewer by open cut	LF	940	\$644.00	\$605,360.00		568.00	568.00	\$ 365,792.00	\$ 365,792.00	60%
54.0	9'X5' RCB Storm Sewer by open cut	LF	80	\$762.00	\$60,960.00	- X. 4.		0.00	\$ -	\$.	0%
55.0	9'X8' RCB Storm Sewer by open cut	LF	2628	\$740.00	\$1,944,720.00			0.00	\$.	\$.	0%
56.0	10'X8' RCB Storm Sewer by open cut	LF	1314	\$848.00	\$1,114,272.00			0.00	s .	\$ -	0%
57.0	Junction Box (39'X10')	EA	1	\$103,000.00	\$103,000.00			0.00	s -	\$.	0%
58.0	Junction Box (34'x12' w/Restrictor No.3 48"(W) x 54" (H) Three	EA	1	\$81,500.00	\$81,500.00			0.00	\$.	\$.	0%
59.0	Junction Box (34'x10')	EA	3	\$68,500.00	\$205,500.00			0.00	\$ -	\$.	0%
60.0	Junction Box (26'x26' w/Restrictor No. 1 30"(W) x 36"(H) Dual	EA	1	\$116,000.00	\$116,000.00			0.00	\$.	s .	0%
61.0	Junction Box (26'x14' w/Restrictor No.2 25" (W) x 72"(H) Dual	EA	1	\$90,000.00	\$90,000.00			0.00	\$.	\$.	0%
62.0	Junction Box (15'x13')	EA	1	\$27,000.00	\$27,000.00			0.00	\$.	\$.	0%
63.0	Junction Box (14'x13')	EA	1	\$25,700.00	\$25,700.00			0.00	s .	\$.	0%
64.0	Junction Box (13'x13')	EA	1	\$25,800.00	\$25,800.00			0.00	\$.	\$.	0%
65.0	Junction Box (12.5'x7')	EA	3	\$19,100.00	\$57,300.00			0.00	5	\$.	0%

Owner: Memorial City Redevelopment Authority 9610 Long Point Road, Ste 150 Houston, Texas 77055

Owner: Memorial City Redevelopment Authority 9510 Long Point Road, Ste 150 Houston, Texas 77055

Contra	ctor:
Reytec C	construction Resources, Inc
1901 Hol	lister St.
Houston.	Texas 77080

3/3/2019 Feb 1st - Feb 28th 003 004 Todays Date: Pay Period: Pay Estimate No. Rain Days This Month

_

Item	Item Description	UOM	Est.Unit Quantity	Unit Price	Contract Amount	Previous Quantities	This Month Quantities	To Date Quantities	This Month Billing	Total Amount Billed	% Complete
66.0	Type BB Inlet (Pre Cast)	EA	15	\$3,400.00	\$51,000.00			0.00	s	- 5 -	0%
67.0	Type C-1 Inlet (Pre Cast)	EA	17	\$5,400.00	\$91,800.00	1.10.40		0.00	s		. 0%
68.0	Type B inlet (Pre Cast)	EA	1	\$2,500.00	\$2,500.00		1.1.	0.00	s	· s ·	0%
69.0	Type C Inlet (Pre Cast)	EA	3	\$4,500.00	\$13,500.00			0.00		- 8 -	0%
70.0	Type E Inlet (Pre Cast)	EA	1	\$3,300.00	\$3,300.00			0.00	S		0%
70.1	Asphalt Mill & Overlay (2-inches)	SY	1000	\$20.00	\$20,000.00			0.00		- s -	0%
71.0	Safety End Treatement (for 36" RCP)	EA	1	\$12,000.00	\$12,000.00			0.00		- 5	0%
71.1	Sheet Pile Weir Adjustment	LS	1	\$18,000.00	\$18,000.00			0.00			0%
					\$13,017,539.00		Subtotal Storm Items		5 532,404.0		
	Channel & Retaining Wall Items										
72.0	Remove and Dispose of Concrete rubble and concrete structur	CY	130	\$22.00	\$2,860.00			0.00	s	- S -	0%
73.0	Remove and Dispose of Concrete Channel Lining & Low Flow, a	SY	1435	\$18.00	\$25,830.00		22.22	22.22	\$ 399.9		
74.0	Concrete Channel Lining, 8" nominal thickness	SY	684	\$135.00	\$92,340.00			0.00		- s -	0%
75.0	Remove and Dispose of existing pedestrian bridge	EA	2	\$5.000.00	\$10,000,00		1.11.10	0.00		- s -	0%
76.0	Retaining Wall (Spread Footing)	SF	6634	\$79.00	\$524,086.00			0.00		- s -	0%
77.0	Combination Rail (C1W)	LF	158	\$235.00	\$37,130.00			0.00			0%
78.0	Pedestrian Handrail (PRD-13, TYPE B)	LF	517	\$73.00	\$37,741.00			0.00	and the second se	- s -	0%
80.0		EA	1	\$1,800.00	\$1,800.00			0.00		- s -	0%
81.0	Extended Concrete Curb (for Proposed Wingwalls)	LF	38	\$180.00	\$6,840.00			0.00			0%
82.0	Remove and Dispose Handrail/Guardrail	LF	465	\$9.00	\$4,185.00			0.00		- s -	0%
83.0	Remove Conc. Retaining Wall	SY	1500	\$13.00	\$19,500.00			0.00		. s .	0%
83.1	Temporary Special Shoring for Retaining Wall	LF	420	\$572.00	\$240,240.00	210.00		210.00		\$ 120,120,00	
	and the second second second second second second second second second second second second second second second				\$1,002,552.00	Subt	otal Channel & Retaining I		\$ 399.9		
	Paving Items										
84.0	Remove and Dispose Concrete Driveways, all thickness	SY	1038	\$8.00	\$8,304.00			0.00	\$	· s ·	0%
85.0	Remove and Dispose of Existing Asphalt Pavement and base, a	SY	7195	\$7.00	\$50,365.00			0.00	s	5	0%
86.0	Remove and Dispose Concrete Pavements (Including All Thickn	SY	410	\$15.00	\$6,150.00			0.00	\$	s .	0%
87.0	Remove and Dispose of Sidewalks, all thicknesses	SY	196	\$6.00	\$1,176.00		same analysis	0.00	s	· s ·	0%
88.0	Remove Existing Concrete Curb	LF	4190	\$1.50	\$6,285.00		A CONTRACT OF A	0.00	s	- s -	0%
89.0	Reshaping & Regrading Existing Ditches	LF	178	\$17.00	\$3,026,00			0.00	5	· s ·	0%
90.0	Lime for Lime Stabilized Subgrade (Dry Weight) (5%)	TON	146	\$170.00	\$24,820.00			0.00	5	5	0%
91.0	Lime Stabilized Subgrade 8-inch	SY	9509	\$7.00	\$66,563.00		100	0.00		· \$ ·	0%
92.0	Flexible Base Course/temp driveways Residential up to 12 feet	EA	35	\$350.00	\$12,250.00			0.00		5	0%
93.0		SY	7581	\$63.00	\$477,603.00			0.00	\$	- s -	0%
93.1	Concrete Maintenance Access Ramp	SY	300	\$65.00	\$19,500.00			0.00	s	S -	0%
94.0	Harizantal Dowels, 24-inch	EA	210	\$7.00	\$1,470.00		2 6 7 M	0.00	\$	5	0%
95.0	Street Pavement Expansion Joint, with or without Load Transfe	15	210	\$8.00	\$1,680.00			0.00		5	0%

Project: Briar Branch (W140-01-00) Channel & Straw Improvements WBS No. N-T17000-0018-3 TIRZ 17 CIP No. T-1734 & T-1734B

r
-

F

Owner: Memorial City Redevelopment Authority 9610 Long Point Road, Ste 150 Houston, Texas 77055

Contractor:	
Reytec Construction Resource	s, Inc
1901 Hollister St.	
Houston, Texas 77080	

27

3/3/2019 Feb 1st - Feb 28th 003 004 Todays Date: Pay Period: Pay Estimate No. Rain Days This Month

Item	Item Description	UOM	Quantity	Unit Price	Contract Amount	Quantities	This Month Quantities	To Date Quantities	This Month Billing	Total Amount Billed	% Complete
96.0	Saw Cutting	LF	373	\$20.00	\$7,450.00	1		0.00	s -	s -	0%
97.0	Concrete Driveways including Excavation 6-inch thick (Residen	SF	8770	\$7.00	\$61,390.00			0.00	\$.	\$ -	0%
98.0	6-inch Concrete Curb	LF	4812	\$4.00	\$19,248.00			0.00	s .	5 .	0%
99.0	Concrete Pavement Header	LF	367	\$8.00	\$2,936.00			0.00	\$.	\$ -	0%
100.0	Curb Ramp	SF	291	\$16.00	\$4,656.00			0.00	\$.	\$.	0%
101.0	Sidewalk 4-1/2-inch thick	SF	1512	\$9.00	\$13,608.00			D.00	\$.	\$ -	0%
102.0	Pav Repairs and Replacement with Base material/ Asph Surface	SY	454	\$120.00	\$54,480.00	- Care 1974	0.00	0.00	\$ -	\$ -	0%
				and the second second	\$842,970.00		Subtotal Paving Items	Contraction of the local sector	s .	\$.	0%
	Wastewater Items										
103.0	Remove and Dispose 4-inch diameter Sanitary Sewer	LF	36	\$17.00	\$612.00			0.00	\$ -	\$.	0%
104.0	Remove and Dispose 6-Inch diameter Sanitary Sewer	LF	22	\$15.00	\$330.00			0.00	\$ -	\$ -	0%
	Remove and Dispose 8-inch diameter Sanitary Sewer	LF	22	\$37.00	\$814.00			0.00	\$.	\$.	0%
106.0	Remove and Dispose 10-Inch diameter Sanitary Sewer	LF	110	\$27.00	\$2,970.00			0.00	\$.	\$.	0%
107.0	Remove and Dispose 15-inch diameter Sanitary Sewer	LF	22	\$33.00	\$726.00	· · · · · · · · · · · · · · · · · · ·		0.00	\$.	\$ -	0%
108.0	4-inch diameter PVC Sanitary Sewer Pipe, by open-cut	LF	4	\$820.00	\$3,280.00			0.00	\$.	\$.	0%
109.0	4-inch diameter PVC Sanitary Sewer Pipe, by open-cut with ca	LF	48	\$450.00	\$21,600.00			0.00	\$.	s -	0%
	6-inch diameter PVC Sanitary Sewer Pipe, by open-cut	LF	4	\$690.00	\$2,760.00			0.00	\$ -	\$ -	0%
111.0	6-inch diameter PVC Sanitary Sewer Pipe, by open-cut with ca	LF	18	\$800.00	\$14,400.00			0.00	\$.	s .	0%
112.0	8-inch diameter PVC Sanitary Sewer Pipe, by open-cut	LF	8	\$500.00	\$4,000.00			0.00	\$.	\$.	0%
113.0	8-Inch diameter PVC Sanitary Sewer Pipe, by open-cut with ca	LF	144	\$350.00	\$50,400.00		1000 A. 1000	0.00	\$.	\$ -	0%
114.0	10-inch diameter PVC Sanitary Sewer Pipe, by open-cut	LF	16	\$460.00	\$7,360.00			0.00	\$.	\$.	0%
115.0	10-Inch diameter PVC Sanitary Sewer Pipe, by open-cut with c	LF	204	\$210.00	\$42,840.00			0.00	\$.	\$.	0%
116.0	15-inch diameter PVC Sanitary Sewer Pipe, by open-cut	LF	4	\$900.00	\$3,600.00			0.00	\$.	\$ -	0%
117.0	15-inch diameter PVC Sanitary Sewer Pipe, by open-cut with c	LF	28	\$300.00	\$8,400.00			0.00	\$ -	\$.	0%
118.0	Point Repair 4-inch diameter Sanitary Sewer	EA	2	\$3,200.00	\$6,400.00	2 2 2		0.00	\$.	s .	0%
119.0	Point Repair 6-inch diameter Sanitary Sewer	EA	2	\$3,300.00	\$6,600.00			0.00	\$.	s -	0%
	Point Repair 8-inch diameter Sanitary Sewer	EA	4	\$3,400.00	\$13,600.00			0.00	\$.	s -	0%
121.0	Point Repair 10-Inch diameter Sanitary Sewer	EA	8	\$3,600.00	\$28,800.00		lama -	0.00	5 -	s -	0%
122.0	Point Repair 15-inch diameter Sanitary Sewer	EA	2	\$3,800.00	\$7,600.00			0.00	s .	\$ -	0%
122.1	4-foot diameter precast sanitary sewer manhole	EA	4	\$4,500.00	\$18,000.00			0.00	\$ -	s -	0%
122.2	Construct 4-foot Extra Depth Sanitary Sewer Manhole	VF	3	\$200.00	\$600.00			0.00	s .	s .	0%
					\$245,692.00		Subtotal Wastewater Items		\$.	s .	0%
	Water Items										100
123.0	Adjust existing meter box to new grade	EA	20	\$800.00	\$16,000.00		-	0.00	ş -	s .	0%
124.0	Remove and Dispose 8-inch diameter Water Line	LF	52	\$18.00	\$936.00			0.00	s .	\$ -	0%
125.0	Remove and Dispose 20-inch diameter Water Line	LF	51	\$40.00	\$2,040.00			0.00	5 -	\$ -	0%
126.0	Cut, plug and abandon existing 8-Inch diameter Water Line	EA	16	\$1,200.00	\$19,200.00			0.00	\$.	5 .	0%

Project: Briar Branch (W140-01-00) Channel & Straw Improvements WBS No. N-117000-0018-3 TIRZ 17 CIP No. T-1734 & T-1734B

Estl

Project: Briar Branch (W140-01-00) Channel & Straw Improvements WBS No. N-T17000-0018-3 TIRZ 17 CIP No. T-1734 & T-1734B

Owner: Memorial City Redevelopment Authority 9610 Long Point Road, Sto 150 Houston, Texas 77055

Contractor: Reytec Construction Resources, Inc 1901 Hollister St. Houston, Texas 77080

Todays Date: Pay Period: Pay Estimate No. Rain Days This Month 3/3/2019 Feb 1st - Feb 28th 003 004

Item	Item Description	UOM	EstUnit Quantity	Unit Price	Contract Amount	Previous Quantities	This Month Quantities	To Date Quantities	This Month Billing	Total Amount Billed	% Complete
	8-inch diameter Water Line by Open-cut	LF	258	\$140.00	\$36,120.00			0.00	\$.	\$.	0%
128.0	8-inch diameter DIP water line by open-cut with restrained joi	LF	223	\$250.00	\$55,750.00	1000		0.00	s .	s .	0%
129.0	20-inch diameter Water Line by Open-cut	LF	10	\$160.00	\$1,600.00			0.00		s .	0%
130.0	20-inch diameter DIP water line by open-cut with restrained jo	LF	40	\$360.00	\$14,400.00			0.00	s .	s -	0%
131.0	8-inch diameter wet connection	EA	16	\$1,400.00	\$22,400.00			0.00		s .	0%
132.0	20-inch diameter wet connection	EA	2	\$3,500.00	\$7,000.00			0.00	s .	s .	0%
132.1	Repair damaged water service lines, 4-inch	LF	150	\$80.00	\$12,000.00			0.00		s .	0%
132.2	Repair damaged water service lines, 6-Inch	LF	150	\$90.00	\$13,500.00			0.00		s .	0%
132.3	Repair damaged water service lines, 8-inch	LF	150	\$100.00	\$15,000.00			0.00		s .	0%
1		2			\$215,946.00	Care and Street	Subtotal Water Items	C. La Cara - I	5	5	0%
	Pavement Marking Items					1.					0/4
133.0	Raised Pav Marker Type I with Two face Reflective (W/Y)	EA	3	\$7.00	\$21.00			0.00	\$.	s .	0%
134.0	Thermoplastic Pavement Markings, 4-inch White, Solid	LF	92	\$6.00	\$552.00			0.00		\$.	0%
135.0	Thermoplastic Pavement Markings, 4-inch Yellow, Dashed	LF	10	\$6.00	\$60.00			0.00		\$.	0%
1					\$633.00	Sut	total Pavement Marking Its				0%
	Extra Unit Prices										0.4
136.0	Remove misc concrete and masonry	CY	100	\$45.00	\$4,500.00			0.00	\$	\$.	0%
137.0	6-inch Over Excavate trench bottom	LF	100	\$15.00	\$1,500.00			0.00	\$	\$.	0%
138.0	Extra Excavation around obstructions	CY	100	\$25.00	\$2,500.00			0.00	\$.	\$	0%
	Extra Hand Excavation	CY	100	\$35.00	\$3,500.00	- sociality		0.00		s .	0%
140.0	Extra Machine Excavation	CY	50	\$25.00	\$1,250.00			0.00	5	s .	0%
141.0	Extra Placement of Backfill Material	CY	100	\$25.00	\$2,500.00			0.00	the second second second second second second second second second second second second second second second se	\$	0%
	Extra Placement of granular fill	CY	100	\$30.00	\$3,000.00	20.0000-0000		0.00		s .	0%
	Extra Cement Stabilized Sand	CY	100	\$40.00	\$4,000.00			0.00		s .	0%
	Extra Water Fittings in Place	TON	1	\$3,500.00	\$3,500.00		and the second second second second second second second second second second second second second second second	0.00	the second second second second second second second second second second second second second second second se	s .	
145.0	Extra Grade 60 Reinforcing Steel	18	1000	\$2.00	\$2,000.00	100		0.00		s -	0%
146.0	Extra Class "A" concrete with or without forms (complete-in-pl	CY	100	\$65.00	\$6,500.00			0.00	\$	<u>s</u> .	0%
146.1	Installation of wooden fence, Complete in place	LF	2500	\$25.00	\$62,500.00			0.00		\$.	0%
146.2	Installation of chain link fence, Complete in place	LF	1500	\$30.00	\$45,000.00			0.00	s -		0%
	instantion of another tence, complete in place		1500	550,00	\$142,250.00	CHARLES AND MAN	Subtotal Extra Unit Prices	0.00		\$ -	0%
	Cash Allowances				\$142,250.00		SOUCCES EXTRA UNIT PRICES	and the state of the second	\$.	\$	0%
147.0	City of Houston Permits	IS		\$3,000.00	\$3,000.00	-0	THE REPORT OF THE PARTY OF				
and the second second second	Street Cut Permit	15		\$3,000.00	\$3,000.00			0.00	<u>s</u> -	\$.	0%
	HCFCD Permit	LS LS		\$3,000.00	\$3,000.00		- state and the second s	0.00	<u>s</u> -	s .	0%
	TPDES Permit	15		\$750.00				0.00	\$.	s -	0%
151.0	Proposed Power Pole and/or street light pole removal/relocati			\$750.00	\$750.00			0.00	s -	\$.	0%
		15	1		\$30,000.00			0.00	\$.	\$.	0%
102.0	HUR CIEIKE DIRECTIVES	5	1	\$2,000,000.00	\$2,000,000.00			0.00	ş .	\$ -	0%

WBS N	act: Briar Branch (W140-01-00) Channel & Straw Improven p. N-717000-0018-3 CIP No. T-1734 & T-1734B	nents		Owner: Memorial City Redeve 9610 Long Point Road Houston, Texas 77055	Ste 150		Contractor: Reytec Construction Re 1901 Hollister St. Houston, Texas 77080	sources, inc		Todays Date: Pay Period: Pay Estimate No. Rain Days This Me	3/3/2019 Feb 1st - Feb 28th 003 onth 004
Iten	Item Description	UOM	Est.Unit Quantity	Unit Price	Contract Amount	Previous Quantities	This Month Quantities	To Date Quantities	This Month Billing	Total Amount Bi	lled % Complete
		1			\$2,037,500.00		Subtotal Cash Allowances		\$.	S	. 0%
				Overall Totals	\$18,794,957.00				\$557,140.46	- 10 E	
			031.1	10× -					Retainage 5%	\$ 53,40	5.32
	Contractor	-	Date Date	19					Sub Total	\$1,014,70	1.14
								Less Total	Previous Payment	\$485,41	7.70
	Owner	-	Date					Amount	t due this Estimate	\$529,28	3.44



<u>Memorial City Redevelopment Authority - TIRZ 17</u> One-Page Monthly Consultant Report

e

March 2018

Project Number: 120-11972-000 Memorial Drive Improvements

Ongoing Activities:

Item	Description
1	Prepared Exhibits and attended Public Meeting
2	Submitted 60% design set to TxDOT and City
3	Prepared 60% Utility conflict table and letters
4	Met with City Traffic Engineering to review proposed Traffic Control Sequencing
5	Continued coordination with TxDOT. Provided TxDOT all necessary 60% submittal items.



HOUSTON: 3200 Travis Street Suite 200 Houston, TX 77006 (713) 951-7951

AUSTIN: 911 W. Anderson Lane Suite 200 Austin, TX 78757 (512) 236-8002

PROGRESS REPORT

THE GOODMAN CORPORATION

To:	Scott Bean, Executive Director
From:	Stephanie Kirschner
Date:	March 1, 2019
Re:	Environmental Studies for Categorical Exclusion Memorial Drive (Beltway 8 to Tallowood Road) (MCT102) – February 2019

Task	Previous % Complete	Current % Complete
1 – Purpose and Need	50%	50%
Comment: No activity.		
2 – Alternative Analysis	15%	15%
Comment: No activity.		
3.1 – Socioeconomic Analysis	75%	75%
Comment: No activity.		
3.2 – Water Quality Conditions	75%	75%
Comment: No activity.		
3.3 – Plant Communities and Wildlife Habitat	85%	85%
Comment: No activity.		
3.4 – Waters and Wetlands Identification	60%	70%
Comment: Update Initial Site Assessment and Cumulative Impacts Technic comments.	al Report based	on TxDOT
3.5 – Air Quality Assessment	60%	70%
Comment: Update Initial Site Assessment and Cumulative Impacts Technic comments.	al Report based	on TxDOT
3.6 – Floodplains Assessment	60%	70%
Comment: Update Initial Site Assessment and Cumulative Impacts Technica comments.	al Report based	on TxDOT

3.7 – Cultural Resource Identification Comment: No activity.	25%	25%
3.7a – Historical Resource Analysis	0%	0%
Comment: No activity.		
3.8 – Hazardous Materials	85%	85%
Comment: No activity.		
3.9 – Historical Resource Identification	5%	5%
Comment: No activity.		
3.9A – Indirect Impacts Assessment	75%	75%
Comment: No activity.		
3.10 – Cumulative Impacts Assessment	75%	75%
Comment: No activity.		
4 – Draft and Final EA	30%	30%
Comment: No activity.		



HOUSTON: 3200 Travis Street Suite 200 Houston, TX 77006 (713) 951-7951

AUSTIN: 911 W. Anderson Lane Suite 200 Austin, TX 78757 (512) 236-8002

PROGRESS REPORT

THE GOODMAN CORPORATION

THEGOODMANCORP.COM

To:	Scott Bean
From:	Jim Webb
Date:	March 1, 2019
Re:	Memorial City Redevelopment Authority Continued Implementation Assistance (MCT103) -
	February 2019

Task	Previous % Complete	Current % Complete
 1 - North Gessner Project Implementation Assistance Comment: Review and finalize information related to project letting. Facilitate final signatures, ENV information, and other matters. 	90%	93%
2 – Memorial Drive Project Implementation Assistance	65%	70%
 Comment: Review and respond to TxDOT coordination requests. 		

• Review need for soil and groundwater management plan for project.



HOUSTON: 3200 Travis Street Suite 200 Houston,TX 77006 (713) 951-7951 AUSTIN: 911 W. Anderson Lane Suite 200 Austin,TX 78757 (512) 236-8002

PROGRESS REPORT

THE GOODMAN CORPORATION

To:	Scott Bean
From:	Stephanie Kirschner
Date:	March 1, 2019
Re:	Memorial Drive Public Meeting (Beltway 8 to Tallowood) (MCT104) – February 2019

Task	Previous % Complete	Current % Complete
1 – Public Meeting per TxDOT Environmental Standards	70%	85%
Comments:		
Final coordination with school district for public meeting		
Conducted public meeting with TxDOT staff (2/7/19)		
Begin drafting meeting documentation report and responses to all public	comments	



 HOUSTON:
 AUST

 3200 Travis Street
 911 V

 Suite 200
 Suite

 Houston, TX 77006
 Austin

 (713) 951-7951
 (512)

AUSTIN: 911 W. Anderson Lane Suite 200 Austin,TX 78757 (\$12) 236-8002

PROGRESS REPORT

THE GOODMAN CORPORATION

To:	Scott Bean
From:	Stephanie Kirschner
Date:	March 1, 2019
Re:	Gessner Road Public Meeting (IH-10 Frontage Road to Long Point Road) (MCT105) – February 2019

Task	Previous % Complete	Current % Complete
1 – Public Meeting per TxDOT Environmental Standards	90%	95%
Comments: Completed public meeting documentation report and reviewed with TxDOT Submitted public meeting documentation report for TxDOT concurrence		



 HOUSTON:
 A

 3200 Travis Street
 9

 Suite 200
 S

 Houston, TX 77006
 A

 (713) 951-7951
 (1)

AUSTIN: 911 W. Anderson Lane Suite 200 Austin,TX 78757 (512) 236-8002

PROGRESS REPORT

THE GOODMAN CORPORATION

To:	Scott Bean
From:	Stephanie Kirschner
Date:	March 1, 2019
Re:	N. Gessner Road Reconstruction Project Soil Management Plan (MCT106) - February 2019

Task	Previous % Complete	Current % Complete
1 – Create Soil Management Plan for TxDOT	95%	95%
Comments: No activity this month.		

PROJECT STATUS REPORT BY SWA

1245 W 18th Street Houston, Texas 77008 +1.713.868.1676 www.swagroup.com

SWA Houston

SCOPE:LANDSCAPE ARCHITECTURE FOR MEMORIAL CITYREDEVELOPMENT AUTHORITYPROJECTS:TIRZ #17 CIPDATE:26 March 2019

CURRENT PROJECTS STATUS

- 1. W-140 BRIAR BRANCH DRAINAGE IMPROVEMENTS (SWA WO#05 / #08)
 - SWA is responding to Gauge Engineering on design issues, as requested.
 SWA will coordinate design and construction phase services for the grading and minimal landscape work as construction begins.
- N. GESSNER DRAINAGE AND MOBILITY IMPRVTS PH 1 (T-1732A) (SWA WO#12)
 - SWA is coordinating the 100% design submittal of the streetscape with Gauge Engineering, TXDOT, METRO, CenterPoint as well as with the partnering management districts (Memorial Management and Spring Branch Management Districts) and key property owners and other agencies.

3. MEMORIAL DRIVE DRAINAGE AND MOBILITY IMPROVEMENTS -

(T1731B)(SWA WO#13)

- SWA is coordinating comments and review of the 60% design submittal of the streetscape with LAN and TXDOT, as well as the Memorial Management District and local property owners.
- 4. ON-CALL (SWA WO#15)
 - SWA is working with area stakeholders (TIRZ 17, City of Houston, TXDOT, Memorial Management District, H-GAC) on the Beltway 8 Pathway connecting Buffalo Bayou and Memorial Drive. Phase One of the project by TXDOT is complete and amenity design and installation on-going. (also see SWA WO#17 below)
- TOWN & COUNTRY WEST DRAINAGE AND MOBILITY IMPRVTS (T-1717) (SWA WO#16)
 - SWA is wrapping up construction phase services in cooperation with LAN on the project for the streetscape improvements including requested design revisions.

NEW PROPOSED PROJECTS STATUS

- 6. ON-CALL BELTWAY 8 TXDOT ENHANCE SIDEWALK (SWA WO#17)
 - SWA has prepared design documents to construct the landscape amenities to complement the sidewalk installation by TXDOT and is coordinating these with TXDOT.

END OF REPORT

swa

SWA Houston

1245 W 18th Street Houston, Texas 77008 +1.713.868.1676 www.swagroup.com CIP 1717 Town and Country West Drainage and Mobility Improvements - Construction Phase Services

WORK ORDER #16 (AMENDED)

8 February 2019

Mr. Scott Bean Executive Director Memorial City Redevelopment Authority c/o Hawes Hill Calderon LLP PO Box 22167 Houston, TX 77024 713-829-5720

Subject: Professional Design Services - Construction Administration Services - Amended (SWA Project RHTs501.B)

Dear Mr. Bean:

SWA is pleased to propose our professional services for construction phase services. These services extend the time and materials beyond the originally proposed scope to the completion of the construction phase for the CIP 1717 Town and Country West Drainage and Mobility Improvements (the "Project"). This Agreement is between Memorial City Redevelopment Authority (the "Authority") and SWA in support of the project located in Houston, Harris County, Texas.

SCOPE OF SERVICES

SWA will perform the following tasks for the Project:

Collaborate with Project Engineer, LAN, such that SWA services are coordinated with the Contractor's schedule and construction sequence for the amenity improvements for the Project to include planting, irrigation, electrical / lighting, hardscape, and landscape amenities. Scope of services include preparing site for and making site visits, reviewing submittals and RFIs processing and punch lists, and punch list walk-thrus.

swa

SWA will retain the services of the structural and electrical engineers and the irrigation designer to consult on their respective design expertise for the related amenity improvements, as required. Costs for these services are included in the fee.

TERMS AND FEES

Terms and conditions of service shall be in accordance with the Service Agreement by and between the Authority and SWA dated August 27, 2013.

Services described shall be provided on a lump sum fee of \$24,320. Expenses are included in the fee.

We would be pleased to answer questions you may have or to clarify any points above. If this proposal meets with your approval, please sign below and return one copy for our files.

Sincerely yours,

James Vick, AIA Principal / Contracting Officer Architect, TX License # 10477 Architects are licensed by the State of Texas.

Memorial Redevelopment Authority W0#16 (Amended) February 8, 2019 Job # RHTs501.B Page 3 of 3

Accepted:	Memorial	City	Redevelopment	Authority	
Ву:					
Title:					-
Date:					
City of Hous	ton, Texas				
By:					
Name:					
Title:	<u></u>				
Date:					

swa